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2A: 23t
g 2slls &8
&el: 2tol=AL X3 (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 30,000
Al 30,000
307 lztol & 60,000 60,000 0
= 30,000
Al 30,000
04 CIZHHAMAMH 2 & 60,000 60,000 0
OHAS=EA 60,000,000& 12| 60,000
= 30,000
Al 30,000
fHE HAFSESHA 40,000 40,000 0
< 20,000
Al 20,000
307 212+01& 40,000 40,000 0
& 20,000
Al 20,000
04 IZHHAIAIS 2 X 40,000 40,000 0
OR4d HA=S==HA
40,000,000 *13] 40,000
= 20,000
Al 20,000
HE 2t &itg 20,000 20,000 0
== 10,000
Al 10,000
307 212+01& 20,000 20,000 0
< 10,000
Al 10,000
04 QIZHHAMAIRH 2 X 20,000 20,000 0
oz =3t etitg 20,000,000& *15] 20,000
= 10,000
Al 10,000
OlZAtE N U2l dE20= Al 36,000 36,000 0
=S 18,000
Al 18,000
307 21201 & 36,000 36,000 0
< 18,000
Al 18,000
04 QIZHHAIAIRH 2 X 36,000 36,000 0
OO0IZAI Y L2 4EH230I=H
36,000,000 *13] 36,000
= 18,000
Al 18,000
HUHAA Ec|A 19,400 19,400
307 gl2to| & 19,400 19,400 0
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2A: 23t
g 2slls &8
&el: 2tol=AL X3 (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 22,500
307 gl2tol & 45,000 45,000 0
=S 22,500
Al 22,500
04 QIZHHAMAIH 2 £ 45,000 45,000 0
(CEISESEE ] 45,000,000 *13] 45,000
& 22,500
Al 22,500
d= Fad 3% 2232 31,300 31,300 0
= 10,000
Al 21,300
307 el2tol & 31,300 31,300 0
= 10,000
Al 21,300
04 QIRHHAMAIH 2 £ 31,300 31,300 0
Od= HaHE 82 332
31,300,000& *13] 31,300
< 10,000
Al 21,300
AlRIDt Stlote AMESE 43,170 43,170 0
307 lztol & 43,170 43,170
04 QIZHHAMAIH 2 & 43,170 43,170
OAI2I SHchs AES2
43,170,000& x13] 43,170
AI2IE gHoke JIES<%el 49,470 49,470 0
307 @120l & 49,470 49,470
04 QIZHHAMAIH 2 £ 49,470 49,470
OAlglDt iists JtS8<al
49,470,000 %12 49,470
wE=0l 38,800 38,800 0
307 elztol & 38,800 38,800
04 QIZHHAMAIRH 2 X 38,800 38,800
oMsE=0l 38,800,000& 12 38,800
lEsal 31,040 31,040
307 el2to| & 31,040 31,040
04 QIZHHAIAIH 2 £ 31,040 31,040
(O =R ) 31,040,000& 12 31,040
SEHAEY 35,357 35,357
307 21201 & 35,357 35,357
04 QIZIHAIAIH E X 36,357 36,357
OEZFMHAEIE 35,357,000 %13 35,357
N23to = AL 32,300 32,300 0
= 32,300




M Zstollsnt

M B30z ME
&el: 2tol=AL X3 (St &)
SIA - BE - O9I(B) - NIRAIY - AR A 2
307 212+01 A 32,300 32,300 0
& 32,300
04 QIZHSHAAIE E X 32,300 32,300 0
OXYSSHUSHA KR (SHSITEII2)
32,300,000 32,300
= 32,300
HelsH(HAZ)EHS 30,000 30,000 0
201 B2 AY| 10,000 10,000
03 HAr2 G| 10,000 10,000
O=2g ¥ SEEHIUN S
10,000,000 *13] 10,000
301 LPENZ 20,000 20,000
11 HAAHIRIE S 20,000 20,000
ONHelsdI S E¥E
20,000,000 *13] 20,000
ZOoHCIDt El0IE st S3t & QHlet 2ME 30,000 0 30,000
T 9,000
Al 21,000
307 QIZ2t01 A 30,000 0 30,000
= 9,000
Al 21,000
04 QUIZHHAIAIE E X 30,000 0 30,000
OZOHI L OEI0IE RIE S35 =5 2QHlet 2
NE 30,000,000 30,000
& 9,000
Al 21,000
=01 92 A% U= 20,000 20,000
308 AXISHMSOIA 20,000 20,000
11 3I| 2 S0 HeHE &2 EALSHI 20,000 20,000
OUl=ol A 23 U= 20,000,000 20,000
25tz &l X 876,643 742,959 133,684
d=0s 29 X2 141,790 137,713 4,077
307 2I2+01A 141,790 137,713 4,077
02 QIZHAAAIEER 6,790 6,790 0
OF=0=Xl Y2t 6,790,000& *13] 6,790
03 QI HER2GHIEX 135,000 130,923 4,077
OF=0Z 22l 135,000,000& 135,000
F=00E 29 N& 76,000 74,314 1,686
307 212+01™ 76,000 74,314 1,686
02 QIZHAAAIHE X 6,000 6,000 0
O==XII=Z0Xl Z2t
6,000,000& *13] 6,000
03 QX HER2GHIE X 70,000 68,314 1,686




SA: SH0IED
33 230ls e
Rl 230l =H XA (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| ozzo0E 298 70,000, 0002 70,000
B2 2N 290,806 286,932 3,874
307 elzto| & 290,806 286,932 3,874
02 2B YAIHE A 125,806 125,806 0
OBFZEISM L2t 25,000,000& 12 25,000
OBESsS0I2| FHAI
70,000,000 70,000
oxXg=2atstun A& 11,600,000 11,600
OBZAALIRLI| LAY BE'
19,206,000 * 12/ 19,206
03 YIZAHHEE 22X 165,000 161,126 3,874
OFF==23td =234l X&
165,000,000 165,000
Zsey 29 368,047 244,000 124,047
307 glztol & 306,000 244,000 62,000
05 2ItRIE =2 306,000 244,000 62,000
OFF=22E 24 125,000,000 125,000
O&H=228 =24 181,000,000& 181,000
401 AIZHIX 20 22,169 22,169
01 AlZ2H| 22,169 22,169
(OFSES 1SS 11,664
OAl4 2= ZAt 10, 164,000& 10,164
OHEIIZA 1,500,000 1,500
O&H=22% 10,505
O=2l 2t 4X 7,505,000 *1H 7,505
OXl== z2tet ZX 3,000,000 *1HK 3,000
405 AHAHE S 39,878 39,878
01 TR ESF SHI 30,878 30,878
OFF=22g 1,500
LES 1,500,000 *1CH 1,500
O&H&Es2g 38,378
OkLE= 1,500,000 *1CH 1,500
O32AE 2kt 150,000 *83H 12,450
OAIRE Xt 300,000 =4 1,200
OAeE My 200,000 *4H 800
OBOIA ZRat 310,000 x22H 6,820
O3sl2s HIOI= 450,000 <2H 900
OB =H 1,400,000 *4CH 5,600
o=y Hy 171,000 +4H 684
O=sEd 2t 125,000 8 H 1,000
OtUHIAI(REEN 2, AIRA)
440,000 ~2K 880




SN 2sts
Hu: 251012 XS

telr 2stols & N (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OX2EAE EAZ42X|
4,700,000 *1SET 4,700
ORSTHD Qats ma
350,000 *2H 700
OXSEHZ 2Es 9T}
143,000 <8 H 1,144
=ttty |4 17,852,636 13,702,282 4,150,354
= 50,000
= 1,780,000
Al 16,022,636
ZetAtA I Y 745,620 643,620 102,000
= 20,000
Al 725,620
A Salzehtg = 601,900 501,900 100,000
201 fet=2 3| 1,900 1,900 0
01 AtR2t2|HI 1,900 1,900 0
Ogy =M 82 & M2
1,900,000& 1,900
308 XtXIEMSO0IE 600,000 500,000 100,000
11 SIS0t 4 A A A 600,000 500,000 100,000
ogd=aht 2435 =8
600,000,000 600,000
Al HHA QIHLEAY 73,720 73,720
307 el2to| & 73,720 73,720
02 SRIZAAR B 73,720 73,720
OFITIT HFUEIA OIAQHAHALY
73,720,000 73,720
SRS Eetiinel 23 30,000 8,000 22,000
201 2= 10,000 8,000 2,000
2 S52g4l 10,000 8,000 2,000
Ocetot Hel dIlg(24, JAXY)
60,0003 x5 2+ 12 3,600
OESe2tot Jel ddt=E 2a(24)
100,000& * 104 A +6E 600
OEetlt Hel sAl2teldl 5,800,000& 5,800
401 AIEHIZ SR 0HYI 20,000 20,000
01 Al&HI 20,000 20,000
OLctot el 2 24 SAt
20,000,000 20,000
g2 - lls2 243 N3N 40,000 60,000 £20,000
= 20,000
Al 20,000
307 gl2to| & 40,000 60,000 /20,000
S 20,000
Al 20,000




M 201
BH: 25M B4
el Sahtgsd EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
02 2IHBHAIHE £ 40,000 60,000 /20,000
o =2t 243 XEAE
10,000,000 *40H 2= 40,000
= 20,000
Al 20,000
Z2IEE Al &S 2,656,200 2,756,000 /99,800
= 50,000
= 360,000
Al 2,246,200
a2 SHY gdat N3 15,000 15,000
402 2I2FX=01 & 15,000 15,000
01 QI XHZ AL E R (K THE) 15,000 15,000
OARSHEEHI(AEMNE) XA
15,000,000& 15,000
AEE BHneHE ZAEAY 2,200 11,000 28,800
201 Ler23 | 2,200 11,000 28,800
01 At2t2ltl 2,200 11,000 /8,800
oz = &= =22 =29
100,000 x11H+23] 2,200
A<EDiete 2HI=De|0td 22X 1,260,000 1,200,000 60,000
= 360,000
Al 900,000
308 AtAIEHMSOIE 1,260,000 1,200,000 60,000
s 360,000
Al 900,000
11 SI[2S0He 4 EAS A 1,260,000 1,200,000 60,000
OXg|gre 2eI=22|0td 2
1,260,000,000& 1,260,000
& 360,000
Al 900,000
el 23 243 800,000 600,000 200,000
308 AXIMSOIA 800,000 600,000 200,000
1 SIS0t AS A 800,000 600,000 200,000
OSR&1 =3dHl 800,000,000& 800,000
EotEA FE 29X 100,000 100,000 0
= 50,000
Al 50,000
308 AHXIHMSO0IA 100,000 100,000 0
= 50,000
Al 50,000
11 SIS0t oA A A 100,000 100,000 0
OZ3EL HE 22 100,000,000 100,000
= 50,000




M 201
BH: 25M B4
&2l 23IEE AlE &S (EEEE))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| Al 50,000
== tiiotEE 29 350,000 320,000 30,000
308 AHAIEHMSOIH 350,000 320,000 30,000
11 SI[2S0He 4 EAS A 360,000 320,000 30,000
OULHCATIOIES 22|
350,000,000 350,000
= &2 Sz s HE 25 60,000 0 60,000
308 AtXIEMSOIH 60,000 60,000
11 SIS0t A AS A 60,000 60,000
OJlx NE2H0=ns X3 At
60,000,000 60,000
23tJ|8HAIE 2tel 69,000 10,000 59,000
201 fer=3| 5,300 0 5,300
01 AtR2t2|H] 4,300 0 4,300
OAEl oA=E 2 EE3 & S22 2 X
2| 4,300,000 4,300
03 Ar=EHI 1,000 0 1,000
OAIQI oA+ A EE3F| S A LHAH
1,000,000 1,000
301 EtE2 N = 3,700 3,700
11 #AIAMHIXIZ S 3,700 3,700
OAI2l oA=& & EE S Al 3,700
O&EA X Atedlbl 500,000 ~5H 2,500
(@ Ii= 12,0003 *200H*5H 1,200
401 Al HIZL 201 60,000 10,000 50,000
01 Al&H| 60,000 10,000 50,000
O=2=DIEAE FA2+ 60,000,000 60,000
AFuEgHA 28 2 29 5,022,000 4,672,000 350,000
FFFHSAMHHA 29 22,000 22,000
207 ARl 22,000 22,000
NEEEET 22,000 22,000
OBZASIHILRETE BABI| B
22,000,000& 22,000
BFANZIATUENH =3 5,000,000 4,650,000 350,000
306 £= 5,000,000 4,650,000 360,000
01 2d= 5,000,000 4,650,000 350,000
OFFAIZSANENE EAS
5,000,000,000& 5,000,000
So2=sd 9,428,816 5,459,662 3,969, 154
= 1,400,000
Al 8,028,816
HEZ0HIALel AL =R (HEALY) 6,000,000 391,000 5,609,000
== 1,400,000




M 201
BH: 25M B4
el SHESES EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 4,600,000
307 gl2tol & 6,000,000 391,000 5,609,000
=S 1,400,000
Al 4,600,000
02 QB AANSEER 6,000,000 391,000 5,609,000
02023 HF=S0iH| AL HAIF=
6,000,000,000& 6,000,000
< 1,400,000
Al 4,600,000
s=302 =29 1,250,000 1,250,000 0
308 AtXIEMSOIE 1,250,000 1,250,000
1 SIS0t EAS A 1,250,000 1,250,000
Ost=s02 AS5E2S 1,250,000,000& 1,250,000
SHSdAE 2S 2,178,816 1,889,202 289,614
201 etz 3| 1,956,816 1,867,272 89,544
02 s3=gHl 1,956,816 1,867,272 89,544
O30I22AH 22 22l
7,000 %22, 224m* x 122 1,866,816
OSUSHAH FA 29
80,000,000& 80,000
OB0ZHAE AEE RAE=
10,000,000 10,000
401 AIEHIZ SR OHYI 222,000 222,000
01 Al&HI 222,000 222,000
Ost=Z02 35 MAIA HIE E3At
200,000,000 200,000
Ost=z02 Ay SEHHl FIt £X 22,000
OAIlA 2,400,000 *6CH 14,400
Ot B& 3,800,000 *2CH 7,600
Y 2AGHI(25t0=n) 56,592 117,228 /60,636
=3l 56,592 117,228 260,636
Jl=23H] 56,592 117,228 260,636
201 er=23| 24,192 74,988 A50,79%6
01 At2teltl 24,192 74,988 N50,796
OJ|=gR=+gasZHI(II1E3HI)
500,000 %19 9,500
ozgt(01=23dl)
8,000 x19 82 12 14,592
OgdEE+=LF Y| 100
OdHAFSorM 2|2l WS
100,000& 1 x13] 100
202 04| 22,800 31,200 8,400
01 2K 22,800 31,200 28,400




SN 2501EDt
Mz Y SHAH|(230=1)
Chel: J1=2 &l EER=E)
- - .Il|_j —
SA - B S(BH) - MISAY - BAS Ofl kot OEM& HR=2
O0l8I(OI=ZH])
20,000& 19 x5 x 128 22,800
203 R =&IH| 9,600 11,040 A 1,440
01 J|2A2HAH R =K 6,000 6,000 0
OJ|I=H(43) 6,000,000& 6,000
M BEASHEAIZF=EIH| 3,600 5,040 A 1,440
©J|=% (202! Olal) 300,000& 128 3,600




A 2t
HY: ME25 BE L WD
Cel: 23 EE2e EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
S 18,965,659 12,589,925 6,375,734
= 7,853,010
Jl 138,364
= 3,830,303
Al 7,143,982
HEE3 2 & ds 18,880,075 12,586,725 6,293,350
= 7,853,010
) 138,364
= 3,830,303
Al 7,008,398
S 2&2el 14,188,300 9,712,680 4,475,620
= 6,992,010
[ 3,113,045
Al 4,083,245
DISE2N 2=FHI(FF HE1Ssn =2 XS 110,000 0 110,000
w2)
= 55,000
< 27,500
Al 27,500
401 Al HIZL S 0HYI 110,000 0 110,000
= 55,000
=S 27,500
Al 27,500
01 AlZ28| 110,000 0 110,000
otdnssty =& NSE=+
110,000,000 110,000
= 55,000
S 27,500
Al 27,500
FISE2SN 24THI(FF 255 2Y B34 I 9,000 0 9,000
2 2=)
= 45,000
=S 22,500
Al 22,500
401 AIEHIZ SR THYI 90,000 0 90,000
= 45,000
= 22,500
Al 22,500
01 AlZ2H| 90,000 0 90,000
O3S YABEA IS N L LatEa
90,000,000 90,000
= 45,000
= 22,500
Al 22,500




A 2t
HY: ME25 BE L WD
Cel: 23 EE2e EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
2OIIFSS 24THI(H= D22l 18 £10/1YY 37,200 32,000 5,200
)
= 26,040
< 5,580
Al 5,580
401 Al HIZL 201 37,200 32,000 5,200
= 26,040
== 5,580
Al 5,580
01 Al&HI 37,200 32,000 5,200
©D22| DE(3S, 254.9m) EIH0ILD]
37,200,000 37,200
= 26,040
s 5,580
Al 5,580
SN2 L3S (FF N2cl 08 LdsYy) 30,000 0 30,000
= 15,000
=S 7,500
Al 7,500
401 AIEHIZ SR 0HYI 30,000 0 30,000
= 15,000
= 7,500
Al 7,500
01 A28l 30,000 0 30,000
oneel D YN TX
30,000,000& 30,000
= 15,000
= 7,500
Al 7,500
SN2 24+80(FF 12cl 08 XA 30,000 0 30,000
&)
= 21,000
= 4,500
Al 4,500
401 Al HIZ S OHbI 30,000 0 30,000
= 21,000
= 4,500
Al 4,500
01 Al&H| 30,000 0 30,000
©L2cl 08 oHf 2XAE & PLIHEY
30,000,000 30,000
= 21,000
= 4,500
Al 4,500




A 2t
HY: ME25 BE L WD
Cel: 23 EE2e EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
SOINHSS 2+THI(HF oMM HEH X7 & 30,000 30,000
LLXIAIE &X)
= 21,000
< 4,500
Al 4,500
401 Al HIZL 201 30,000 30,000
= 21,000
== 4,500
Al 4,500
01 Al&HI 30,000 30,000
OF = ralA IS &2 X
30,000,000& 30,000
= 21,000
s 4,500
Al 4,500
SINE S E+FHI(4ZdE EX0HY) 1,220,000 1,220,000
= 854,000
=S 183,000
Al 183,000
401 AIEHIZ SR 0HYI 1,220,000 1,220,000
= 854,000
= 183,000
Al 183,000
01 A28l 1,220,000 1,220,000
odgttd EXI0HY 1,220,000,000& 1,220,000
= 854,000
= 183,000
Al 183,000
NE 23 2+FHI(FF &gy =530 & 65,000 65,000
ol=)
= 45,500
= 9,750
Al 9,750
401 AlZHIZ 01| 65,000 65,000
= 45,500
= 9,750
Al 9,780
01 Al&HI 65,000 65,000
oMM ~2FH U HIE
65,000,000& 65,000
= 45,500
& 9,750
Al 9,750
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A 2t
HY: ME25 BE L WD
Cel: 23 EE2e EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 Al&HI 163,000 0 163,000
odgtty 2cld S5 153,000,000& 163,000
= 107,100
< 22,950
Al 22,950
INE 2 E+FHl(dSsS022 EX0HY) 5,840,000 5,840,000 0
= 4,088,000
< 876,000
Al 876,000
401 Al HIZL S 0HYI 5,840,000 5,840,000 0
= 4,088,000
=S 876,000
Al 876,000
01 AlZ8| 5,840,000 5,840,000 0
OAZEDET EXNY AP Reas
5,840,000,000& 5,840,000
= 4,088,000
= 876,000
Al 876,000
DN 24Z0(F =S £4 +254| 65,000 0 65,000
% ol=x)
= 45,500
=S 9,750
Al 9,750
401 AIEHIZ SR THYI 65,000 0 65,000
= 45,500
= 9,750
Al 9,750
01 A28l 65,000 0 65,000
ON=SEN 427U L X
65,000,000 65,000
= 45,500
= 9,750
Al 9,750
SNE 28 2+ZHI(EM 20|17 S MEHT) 100,000 100,000 0
= 70,000
= 15,000
Al 15,000
308 AXIHS0IA 100,000 100,000 0
= 70,000
= 15,000
Al 15,000
1 SIS0t oA AS A 100,000 100,000 0




A 2t
HY: ME25 BE L WD
Cel: 23 EE2e EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OEM 20|72 S 45, dEHAL
100,000,000 100,000
= 70,000
[ 15,000
Al 15,000
2OINE 23 S (ZM O AIALY) 20,000 20,000 0
= 14,000
[ 3,000
Al 3,000
201 el 10,000 13,000 23,000
= 7,000
s 1,500
Al 1,500
01 At22t2l] 7,000 8,000 21,000
OZM ZAY 2282, K=l S
7,000,000 7,000
= 4,900
=S 1,050
Al 1,050
2 S52g4l 3,000 5,000 22,000
OM LAY RXIH| 3,000,000 3,000
= 2,100
=S 450
Al 450
206 M=Hl 10,000 7,000 3,000
= 7,000
=S 1,500
Al 1,500
01 M=8l 10,000 7,000 3,000
OZM ZHoIeHl S 10,000,000 10,000
= 7,000
= 1,500
Al 1,500
SN2 2+8H(852 sUS & Shel 2 20,000 20,000 0
DU RNZ)
= 14,000
= 3,000
Al 3,000
401 AlZHIZ SO 20,000 20,000 0
= 14,000
= 3,000
Al 3,000
01 AlZH| 20,000 20,000 0




A 2t
HY: ME25 BE L WD
Cel: 23 EE2e EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
omeDIEE B4tE(2=2 8UR)
10,000,000 10,000
= 7,000
[ 1,500
Al 1,500
oEeIEE B4XR(SHE 2ULS)
10,000,000 10,000
= 7,000
< 1,500
Al 1,500
SHNE 28 E+FHI(S=2 SUR 253 FH|) 50,000 0 50,000
= 35,000
== 7,500
Al 7,500
401 Al HIZL 01| 50,000 0 50,000
= 35,000
== 7,500
Al 7,500
01 Al&HI 50,000 0 50,000
oOdHIIS=E S=cl SUR 253 FH|
50,000,000 50,000
= 35,000
== 7,500
Al 7,500
EXNE23H E4FH| 2,769,000 652,580 2,116,420
== 1,384,500
Al 1,384,500
207 ARl 190,000 0 190,000
= 95,000
Al 95,000
01 1= 190,000 0 190,000
OFF Mal2l 2N FHIUINE 42
70,000,000& 70,000
s 35,000
Al 35,000
OF= zAH B4 EEFIHIAHE =8
70,000,000 70,000
= 35,000
Al 35,000
OF= £83 &)l SEELIHE =8
50,000,000& 50,000
s 25,000
Al 25,000
401 Al HIZL S 0HYI 2,579,000 652,580 1,926,420
S 1,289,500




2A: 2t
HY: ME25 BE L WD
el 23 EE2e] (EEEE))
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
Al 1,289,500
01 AlEHI 2,557,000 652,580 1,904,420
OHF HESUV(65T) B4
125,000,000& 125,000
= 62,500
Al 62,500
OF= =XY HEX0lYa F=HHFY]
11,000,000& 11,000
& 5,500
Al 5,500
O=F=&ZY JIH & ez B
80,000,000& 80,000
= 40,000
Al 40,000
O 433 8¢ NSE=+
243,000,000& 243,000
& 121,500
Al 121,500
OF= NHdE &5 E= 10,000,000& 10,000
& 5,000
Al 5,000
OFF CHAA HIZHE =F AUYXAIL 4
Xl 15,000,000 15,000
& 7,500
Al 7,500
OF=F A=d &&Hl =HFY|
61,000,000& 61,000
& 30,500
Al 30,500
OX=F SS2M Sl & B4 EEXHe
11,000,000 11,000
& 5,500
Al 5,500
OFF HFEM AIZHIEH 2E&Xcel
33,000,000& 33,000
= 16,500
Al 16,500
OF=F X8 MEIIEY E&=Hel ¥ J|HE
= 22,000,000& 22,000
& 11,000
Al 11,000
OF= AtEe| A B&EXel & FHFY|
150,000,000& 150,000
= 75,000
Al 75,000
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A 2t
HY: ME25 BE L WD
Cel: 23 EE2e EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 27,000
01 AlZ2H| 54,000 0 54,000
OCXNH23M LSUYS(AHL-AHSAE
SHAY, ASANTH, EEA)
54,000,0002 54,000
== 27,000
Al 27,000
EXE2HH =101 D] 110,000 47,100 62,900
= 55,000
Al 55,000
401 Al HIZ 2018 110,000 47,100 62,900
= 55,000
Al 55,000
01 AlZH| 110,000 47,100 62,900
OZXHEZSH Z=IH0IL (M A-E=HT|
S61X, 2Fel 1ot L&el 1ot
110,000,000 110,000
=S 55,000
Al 55,000
SERY 23| 450,400 338,000 112,400
207 ARl 80,000 0 80,000
01 HESHI 80,000 0 80,000
OEFA FIIZA 80,000,000 80,000
401 Al HIZ 2018 370,400 338,000 32,400
01 Al&H| 370,400 338,000 32,400
OgERA ot &X
1,700,000 * 129K 2~ 20,400
OEERH 2= 350,000,000 360,000
S3H etLfe JH| 12,300 100,000 A87,700
= 3,970
= 4,165
Al 4,165
401 Al HIZ R 0HHI 12,300 80,000 A67,700
= 3,970
= 4,165
Al 4,165
01 A28l 12,300 80,000 A67,700
OXE =2t orLiEr FH
12,300,000& 12,300
= 3,970
= 4,165
Al 4,165
CEHESMN s A 2,242,000 478,000 1,764,000
= 1,121,000




A 2t
HY: ME25 BE L WD
Cel: 23 EE2e EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 336,300
Al 784,700
401 Al HIZL 01| 2,242,000 478,000 1,764,000
= 1,121,000
== 336,300
Al 784,700
01 Al&H| 2,242,000 478,000 1,764,000
ORE2a drus2 AE
2,242,000,000& 2,242,000
= 1,121,000
== 336,300
Al 784,700
B =42 st=0z 20,000 0 20,000
207 ARl 20,000 20,000
01 HESHI 20,000 20,000
oFF 342 st=ial(1al)
20,000,002 20,000
HE BB UHEA 20,000 20,000
207 1P| 20,000 20,000
NEEEET 20,000 20,000
OHZE ST AHEA(ANYT)
20,000,000& 20,000
Olcimat 2EZ& & &8 31,400 31,400
201 Ler23 | 27,500 27,500
01 At2t2ltl 27,500 27,500
Ollch7at E28d S28 3,100
OalAg 00,0002 %52x23| 1,000
OZ2 thU & ZTAE M
1,500,000 1,500
OdH M2 100,000& +6& 600
Ollei=et B2 JI8E A
10,000 *500H 5,000
ODlchHFar S M= 800, 0003 *20H 16,000
Olld=LEEHE2 28 = 3,400
Os4=g 100,000 8 *43] 3,200
O X At==g 100,000& x2&*12] 200
301 EtE NS 3,900 3,900
14 DBt 2 a=S 3,900 3,900
Ollch=4 E2Ed S2H Algs 3,900
Othet 1,000,000& 1 1,000
Oz 2=¢ 500,000 x2H 1,000
OR=4 300,000& 3 900
oy 100,000& %10 1,000




A 2t
HY: ME25 BE L WD
Cel: 23 EE2e EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= SEHT S=8AM 22 32,000 0 32,000
= 16,000
Al 16,000
307 el2to| & 32,000 0 32,000
= 16,000
Al 16,000
02 QIZtEHAEE X 32,000 0 32,000
OXE DEN ASN2EL w2
32,000,000& 32,000
== 16,000
Al 16,000
ZoHH 23 AIZ29E 3,077,185 1,636,813 1,440,372
= 435,000
Il 138,364
= 364,158
Al 2,149,663
FEEN drusd 23 56,200 56,200 0
307 gl2to| & 56,200 56,200
05 212+ =S 56,200 56,200
OZsHMAIE ?E3H| 56,200
Otfgds=u =2 35,000,000 %14 2 35,000
(OI=PIFSE My 21,200,000 * 10 2~ 21,200
SEEIN drus2t 2dst A 30,000 40,000 10,000
= 12,000
< 5,400
Al 12,600
307 glztol & 30,000 40,000 10,000
= 12,000
== 5,400
Al 12,600
02 LB MAHEE 30,000 40,000 10,000
OUld d+-us2 243 At
30,000,000 30,000
= 12,000
=S 5,400
Al 12,600
S AL 2 870,225 614,103 256,122
101 @124H| 378,876 301,461 77,415
M JIZtHZ2SE 378,876 301,461 77,415
O=22HAI4 2t EH| 344,904
OoJlzs 9,620 #7 Al 2178271 310,236
Oo=gg=s 310,236,000 *4. 5% 13,961
(@Falz gt 310,236,000 +3.495% 10,843




A 2t
HY: ME25 BE L WD
ol 23 28 AE2g (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OFIIRYEE 10,843,0002 *12.27% 1,331
OunE=s 310,236,000& *1.75% 5,430
O4H=EE 310,236,000 * 1% 3,103
OZM ALY 22l 33,972
OJlZ=s 9,620 x5A| 2H+2E <312 30,015
Oo=gg=s 30,015,000& *4. 5% 1,351
OAHLEE 30,015,000 %3.495% 1,050
OFIIRYEE 1,050,0002%12.27% 129
OonE:d 30,015,000 *1.75% 526
O4ti=Ee 30,015,000& * 1% 301
Ou =0l 20,0003 x 1 »30! 600
201 er=2 3| 447,322 297,842 149,480
01 AtR2te|HI 168,482 126,846 41,636
OXSHAL MEHE
1,000,000 x4 2A-*23] 8,000
O=22 AL 2eIES
1,500,000 x9N 2 13,500
O2SMAE EE=
450,000 *35*90H A 12,150
ogRUH=+= 64,352
O22HAIE CCTV =X 2=
1,400,000 * 1490 2 19,600
O=x2=2h) &It EH
80,0003 #3204 A 2,560
OZsHMAIE Ro13H|
171,000 x60H 2=+ 123 12,312
O=3HAIE =EHA
300,000& *2JH 2-*42] 2,400
O22 AL datx A
315,000 8K A 2,520
O2stAld =83 A
500,000 *37H 2x23] 3,000
O3 HAIE JAY &5
1,000,000 574 2 5,000
OMHSSTAIZ WALS (j2t2
200,000 x 122 2,400
Odgits ot¥d 2XIcIANE 83
440,000 123 5,280
OIS HEX IHEAIAE 2|
200,000 122 2,400
O N=S A2 &DtE 2=
140,000& * 122 1,680
OHNFEXAIZ TAIJIAALE HIIESH
SRt 60,0002 %12 60
OUHSSHAR BUY HIBALLE
100,000& %12 100




A 2t
HY: ME25 BE L WD
ol 23 28 AE2g (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OHNFSHAIZ AN 2e|HAZ
420,000 128 5,040
OFAZZ LI=HI 5,760
o=28=23) 240,000 9 2,160
Ogsts 5 38 400,000 *0H 3,600
O3 MAIE dI| &Rtz
210,000 x 122 2,520
O2AME2It S AXA KHEZ
100,000 x2& *123] 2,400
OSE2sH AEAE X2
3,000,000 1= 3,000
OHEESTS SN2 AXE
2,400,000& 123 28,800
OM AY EXl 2itE
250,000 * 128 3,000
OHNSFESHAZ Al S M
20,000,000 20,000
oHERNTSIAS 2o
100,000 x5 %102 5,000
02 S3=gHl 246,838 170,99 75,842
OZsHMAIE &K= 138,108
OSSEaM ZEAIE
33,0002~ 12 3%
(OF=3S Falgs 1,400,000& «12& 16,800
O HEX 2,000,000& 12& 24,000
Oo&dgsig 900,000 * 12 10,800
Odl=soIg 2 1,000,000& «12& 12,000
Osaga 350,000& 122 4,200
OHAEZcIARAHAI2
900,000 * 12 10,800
OB F=H A2 3,426,000 x 123 41,112
OF=sSEd 400,000 123 4,800
Ost8+28&8 7ol
200,000 * 122 2,400
Otz2dd 300,000 x 12 3,600
O&Eg & ES 20t
200,000& * 122 2,400
O M AL 100,000& «12& 1,200
OBFEE, AZCIEMN, 0, 2aA 3t
o s 300,000 * 122 3,600
OS2 MAIE 2des A
50,0003 #40H A+ 128 2,400
O23MAIE SAIAE Stz
475,000 123 5,700
O=22 AL dot==R=
63,0002 9 A+ 123 6,804




A 2t
HY: ME25 BE L WD
ol 23 28 AE2g (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O2MESI IS (2 MR BEZ)
425,000 123 5,100
OZ2=2AlE S|
1,4002 %1002 | EA+3H 2% 12 5,040
O=3HAIE EHIF Y
9,500,000 8K 76,000
OZM A IV S&ls
00,0002 122 1,200
OURRSHAZ RS2HY|
400,000 x224 800
OfNFEHAZ d=2 RAZ=H]|
4,2883*1,186m 5,086
o= g3l 600
Os=s%=283 300,000 12 300
Ost=8=2&3l 300,000& %12 300
03 A2 I 32,002 0 32,002
O N=SHAIZ J12d
30,000,000& *13] 30,000
o2 JIH RS vE 2B
2,002,000& %12 2,002
203 HR=AH] 2,000 1,500 500
03 A=A PR FA| 2,000 1,500 500
O2stii|etaE =8
2,000,000& 2,000
206 M=Hl 36,727 36,727
01 MHZH| 35,727 35,727
ORNFESHAZ 7= BEAS 8,052
Os=xZAH 49,5002 x 15742 2,970
Ogz & 4&X 36,3002 x35H*43] 5,082
O#NFESHAZ W= - Mg 7,500
Oz Mg u=s JIE
10,0002 *500H 5,000
ORr=Es% M8 5,000 *500H 2,500
O22MAIE MeDISE
2, 1702 x400H*QH A+ 123 9,375
OS2 MAIE B2E & & RS
100,000 xQIH =% 123 10,800
405 AHaHE = 6,300 13,300 A7,000
01 ML ESF SHI 6,300 13,300 AT7,000
OYWHIRSHAIZ MREE 700
OM&2I 700,000 1CH 700
OE=SEd 2l MRES 5,600
odal 1,000,000 1CH 1,000
O Xt 300,000 «2H 600
oz 200,000 *2H 400




A 2t
I ME23 BE L M
ol 23 28 AE2g (SH9 H2)
S - EE - BRI(EH) - AIRAY - BAS of v e HIDE2
Oool1sa Aed 200,000 =2H 400
OafeI 300,000 *4H 1,200
OZgH 600,000 *1CH 600
O&FATI 300,000 *1CH 300
OZH0I(IHEIE) 300, 0002 %24 600
O3oE &t 300,000 *1H 300
O&AXt 50,0002 *4H 200
S3HHAIE EHI 300,000 282,000 18,000
401 AIEHIZ SR THYI 300,000 282,000 18,000
01 AlZ8| 300,000 282,000 18,000
O23t =8 xZ2e| ¥ &2
200,000,000 200,000
OZ22=22t A AdE B ELSA 100,000
OFXE tFd & MAH2(2eE) XS
2 80,000,000 80,000
Ogd & Sttel E= 20,000,000& 20,000
gl FAl2el At 23,200 21,960 1,240
< 11,600
Al 11,600
307 lztol & 23,200 21,960 1,240
= 11,600
Al 11,600
02 2IZHBYAIHE & 23,200 21,960 1,240
0QZNIE+ & LHAL(FFE)
14,400,000 14,400
=S 7,200
Al 7,200
0Z0IE+ S Ly&el(22e)
8,800,000 8,800
= 4,400
Al 4,400
=HNE 22 HEHEXAIE 2= 85,860 370,000 N284,140
) 54,844
S 16,508
Al 15,508
401 Al HIZL 201 85,860 0 85,860
Jl 54,844
< 16,508
Al 15,508
01 Al&HI 85,860 0 85,860
OFF 353 B4 YHAE =
45,770,000 45,770
Jl 32,039
== 6.866




2A: 2t
HY: ME25 BE L WD
ol 23 28 AE2g (SH9 H2)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
Al 6,865
OHZE SR HMEHA YHAL 75
26,290,000 26,290
| 13,145
& 6,572
Al 6,573
OBF SFAN HY YHAM 25
13,800,000 13,800
| 9,660
T 2,070
Al 2,070
MK E 22 THELXAIE FX 2l 28,000 28,000 0
| 19,600
& 4,200
Al 4,200
201 L2 | 28,000 28,000 0
| 19,600
& 4,200
Al 4,200
02 33244l 28,000 28,000 0
OMHEXAIE X2t 28,000,000& 28,000
| 19,600
& 4,200
Al 4,200
IONEEZ M HE AR X 128,100 118,000 10,100
J| 63,920
& 23,650
Al 40,530
101 2124 d| 128,100 118,000 10,100
| 63,920
= 23,650
Al 40,530
M IIZtHZ22SE 128,100 118,000 10,100
OF3M eHMIHIA B 128,100
oJ12= 2,232,0002 4B 128 107,136
| 53,460
= 19,780
Al 33,8%
O4ted 20,964,000 20,964
| 10,460
= 3,870
Al 6,634
SXNEZSM LML 2= 130,000 0 130,000




2A:
X XH -
o e

=aak

M0 2 {0
o1 i fon

T2t
S5 2= o M
W2 A2y

SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 65,000
Al 65,000
401 AlEHIZL S0 130,000 0 130,000
= 65,000
Al 65,000
01 Al&H| 130,000 0 130,000
OZXFSSM LML PS 130,000
OXE 298D AUAE 75
120,000,000 120,000
== 60,000
Al 60,000
OEZE WZAL MEOIAA ABAIL 22
10,000,000 10,000
= 5,000
Al 5,000
CXEEZSHM YA A2 34,600 34,550 50
s 17,300
Al 17,300
201 2= 34,600 34,550 50
[ 17,300
Al 17,300
02 S5=24g4l 34,600 34,550 50
O=XE =3 &t sl
34,600,000& 34,600
= 17,300
Al 17,300
SSME HHAIAE SXZ= 66,000 72,000 26,000
= 33,000
= 16,500
Al 16,500
201 Let=23 | 66,000 72,000 26,000
= 33,000
< 16,500
Al 16,500
02 S5=2g4l 66,000 72,000 26,000
OTSAHE SMAIASE RXE=(ESA S 9
HA) 66,000,000& 66,000
= 33,000
< 16,500
Al 16,500
HSAHE B ZHIAY 780,000 0 780,000
= 390,000
[ 195,000
Al 195,000




2A: 2t
HY: ME25 BE L WD
&2l 23 2A AIZ22E EER=E)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
402 QI X201 ™ 780,000 0 780,000
= 390,000
T 195,000
Al 195,000
02 QIZEXHE A 2 ZZ (0| THE) 780,000 0 780,000
ONSAIE B2THI(2EAH)
400,000,000 400,000
= 200,000
& 100,000
Al 100,000
OFSAE 2=FUI(SH2AH
380,000,000& 380,000
= 190,000
= 95,000
Al 95,000
SHUSA(UNRSTAIY) 2242 Eted AIEED} 40,000 0 40,000
g
207 AR LI 40,000 40,000
01 g1 =] 40,000 40,000
O NF=dAZ S5 ¥ 222 BEH
MNEEIL 4 40,000,000& 40,000
AtEAbS HASH A 505,000 505,000
401 A& HIZLS0HY| 505,000 505,000
01 AlEHI 505,000 505,000
Q&Y ALY FAZ A 505,000,000& 505,000
23 28 Y AKX 1,614,590 1,237,232 377,358
= 426,000
& 363,100
Al 825,490
=3t OFeH 500,000 475,000 25,000
= 140,000
& 84,000
Al 276,000
307 212+01™ 500,000 475,000 25,000
= 140,000
& 84,000
Al 276,000
04 QIZHHAIAIE E X 500,000 475,000 25,000
©2023 = 23t OFdl 500,000,000& 500,000
= 140,000
& 84,000
Al 276,000
M =& 2l 50,000 50,000
201 B2 AY| 50,000 50,000
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20,000,000&
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380,000
152,000

91,000
137,000
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135,000

307 212t01&

Mo

=

380,000
152,000

91,000
137,000

245,000

135,000

225,000,000
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Mo
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Mo

=

380,000

225,000
90,000
54,000
81,000

50,000
20,000
12,000
18,000

105,000
42,000
25,000
38,000

245,000

135,000

Mo

=

42,500
17,000
10,200
15,300

45,000

22,500

307 212+01&

Mho

42,500
17,000
10,200
15,300

45,000

A2,500

42,500,000

W

42,500

42,500
17,000

45,000

22,500




2A:
X XH -
o e

=aak

ton &4

oL

e
00 HT
o

M0 2 {0
o1 i fon
=M=
o T

el

o A
3ol
0

it
x

CFB GBI - MRAY - BES

Ofl &F2H

MEE
Ofl &k2h

H

10,200
15,300

hoH

=

100,000
40,000
24,000
36,000

100,000

307 212t01™

Mo

100,000
40,000
24,000
36,000

100,000

OF4t2 ol=RAZ Z0t =0l5 E2AH

50,000,000&

Mo

=

Mo

=

100,000

50,000
20,000
12,000
18,000

50,000
20,000
12,000
18,000

100,000

MM S ALY

Mo

=

130,000
52,000
31,000
47,000

140,000

210,000

307 212t01&

Mo

=

130,000
52,000
31,000
47,000

140,000

10,000

80,000,000

O¥slel 0012, sl 22
50,000,000

Mo

=

mho

130,000
80,000
32,000
19,000
29,000

50,000
20,000
12,000
18,000

140,000

210,000

10,880

9,700

1,180

10,880

9,700

1,180

5,440,000 23]

10,880
10,880

9,700
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A Hsu=sH
2 ARds &

dE
EM=E 54 NE

el o EER-E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
H=u=1 22,867,426 19,453,629 3,413,797
Jl 2,076,304
== 2,484,705
Al 18,306,417
ARIHE &S 20,051,310 15,412,448 4,638,862
Jl 2,076,304
== 2,484,705
Al 15,490,301
dEM=E |54 NE 14,034,863 10,601,265 3,433,598
= 2,120,000
Al 11,914,863
HEME | - 298 6,033,777 2,466,578 3,567,199
= 2,000,000
Al 4,033,777
201 er2 3| 2,900 2,800 100
01 AtR2te|HI 2,900 2,800 100
oY ME ZEW ME
100,000 *19H 1,900
OBFAMSHEHIS 91 25
100,000& 10« 12] 1,000
203 HR=H| 3,000 3,000
03 A= L2 FAIH| 3,000 3,000
oA M=dAIFA 3,000,000& 3,000
307 gl2to| & 6,017,277 2,460,778 3,566,499
=S 2,000,000
Al 4,017,277
02 QB HANEER 4,808,090 1,263,090 3,545,000
0ESZFI227¢ 2YX L
4,000,000,000& 4,000,000
< 2,000,000
Al 2,000,000
OFFAINF=2 NE A 808,090
OBFAl 2444 SHBT
156,000,000& *13] 156,000
OBZA SNMSC Lotz
9,700,000& %12l 9,700
OBZFHXGSZIC X
16,490,000 x 13/ 16,490
OE=UM=sUHa SN2
355,500,000 %12 365,500
O&=HM=Uz 28X
48,500,000& 12 48,500
Od=AHM=EU2 28X
24,250,000 x13] 24,250




A Hsu=sH

M ARIME &S
el dEHE |54 AR (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Od=SAM=U=2 28X
4,850,000 12 4,850
OAMIAI & =03 =8
9,000,000& %12 9,000
OAlzZig SH0tetENa 28X 38,800
-MI33=2 =XIARIRA SEOteHEE
18,070,000& * 18] 18,070
-Hl413 S=A2UE AE0IIEHE
20,730,000& x12] 20,730
O FA 23U SEA
145,000,000 *13] 145,000
03 M EE2SHIEX 1,200,187 1,197,688 11,499
OFFANHE MRE= 2Z 1,200,187
OoJlzs 588,321,000& 588,321
Oo=¢ 220,254,000 220,254
Og=2Egss 154,930,000 154,930
OgR=4| 13,700,000 13,700
OXFe A 38,280,000& 38,280
O=LHNHI 12,000,000 12,000
OXEE=SANELE 18,640,000& 18,640
Ooger24| 163,062, 000& 163,062
402 QI2F X201 & 10,600 0 10,600
01 QI X2 AL E A (KEMITHE) 10,600 0 10,600
OFFAHF2 ME= 2578 X2 10,600
O3 =H 1,400,000 *3CH 4,200
O3Es &t 500,000 *2K 1,000
OolsgHiols 300,000 * 107K 3,000
O Xt 200,000& =124 2,400
AHRE SE ANEEER 50,000 50,000
201 er2&| 50,000 50,000
01 At2teltl 50,000 50,000
OAR=E St AIEER
50,000,000& *12] 50,000
EFAEI| AZEHILIAE 7,760 7,760
307 21201 & 7,760 7,760
04 QIZIHAIAIH E X 7,760 7,760
ONI302 HFAIEI| AZEHILIACHS
7,760,000 12 7,760
AN RS uESStuEci 2 7,760 7,760 0
307 elztol & 7,760 7,760
04 CIZHHAMAMH 2 & 7,760 7,760
OHMB1E HFAIFEIIXK SAN2EFSNE
Sstu Eciii=l 7,760,000 12 7,760
AT SEUE 9,700 9,700 0




2A:

E M

X=]

M=w=u

ARIH=E &S
AN

. W2HE |4 N

SA - ZE . BR(8) - HRAR - BES of v e HIDE2
307 lztol & 9,700 9,700
04 CIZHHAMAIRH 2 & 9,700 9,700
ONI6sl H=AIZHH SHHS
9,700,000& %12 9,700
A AU 16,550 14,550 1,000
307 @12to| & 15,550 14,550 1,000
04 QIZHHAMAIH 2 £ 15,550 14,550 1,000
OHM26al FF=AIEI| A==l
15,550,000 * 12l 15,550
EFAZD| AEUEEUE 17,460 17,460 0
307 212t01™ 17,460 17,460
04 QIZHHAMAIRH 2 X 17,460 17,460
ORI253| H=AZD| MNEHEZPUS
17,460,000 * 13/ 17,460
A =2=Uz= 8,730 8,730
307 gl2to| & 8,730 8,730
04 QIHHAMAIH 2 £ 8,730 8,730
ORm218l EF=AEI SEU3E
8,730,000& 12 8,730
AU =2Uz2 8,760 7,760 1,000
307 elztol & 8,760 7,760 1,000
04 QIZHHAIAIRH 2 & 8,760 7,760 1,000
OH203] FFAIZH HROAHZ+HS
8,760,000 12 8,760
AU =202 14,550 14,550
307 el2to| & 14,550 14,550
04 QIZHHAIAIH 2 £ 14,550 14,550
OM202 H=AIZHH 2203
14,550,000 x 12l 14,550
EFAEH B2 11,640 11,640 0
307 212+01& 11,640 11,640
04 QIZHHAIAIH E X 11,640 11,640
OR163] HEAIZH IS0
11,640,000 *13] 11,640
AU HAALRY 3 13,095 13,095 0
307 elztol & 13,095 13,095
04 CIZHHAMAMH 2 & 13,095 13,095
OHN133 HFAIZH H=aHAALRAI|CH
2 13,005,000 x12] 13,095
EFANEH ==UE 8,760 7,760 1,000
307 @I2t01 & 8,760 7,760 1,000
04 QIZIHAIAIH E X 8,760 7,760 1,000
OHMI123] H=AIEH REUS
8,760,000& *12] 8,760




2A:
PSR
ool

(= amE=
B;zl i“’:'u' dE
A

SA - ZE . BR(8) - HRAR - BES of v e HIDE2
A A ENUE 8,760 7,760 1,000
307 elztol & 8,760 7,760 1,000
04 QIZHHAMALH 2 & 8,760 7,760 1,000
ONBal HFAIZHH A XA
8,760,000& 12 8,760
E=AEHH BIATHE 15,550 14,550 1,000
307 @I2t0| & 15,550 14,550 1,000
04 QIZHHAMAIH 2 £ 15,550 14,550 1,000
OHMI103] HZ=AIZHH BH2CHS
15,550,000 * 12l 15,550
e=ENESPIPNONE=Eta i k=1 8,760 7,760 1,000
307 lztol & 8,760 7,760 1,000
04 QIZHHAMAIRH 2 & 8,760 7,760 1,000
ORMI252] FFAIEIIXA ===
8,760,000 12 8,760
AU =28 OF2UE 7,760 7,760 0
307 @120l & 7,760 7,760
04 QIRHHAMAIH 2 £ 7,760 7,760
ON9al E=AIEHH FAH0RUS
7,760,000 12 7,760
ESIE &= & MRS i 6,545 7,275 AT30
307 elztol & 6,545 7,275 AT30
04 QIZHHAMAIH 2 & 6,545 7,275 AT30
OB=E d= E A=EHAU2 HE X2
1,309,000 %53 6,545
2T MO0 s7UE(RIEERH) 100,000 40,000 60,000
307 el2to| & 100,000 40,000 60,000
04 QIHHAIAIH 2 £ 100,000 40,000 60,000
©2023 SHaltg =M MOl s=0isl
100,000,000 12 100,000
X A= AFAIHAEIH 14,550 14,550
307 212+01& 14,550 14,550
04 QIZHHAIAIRH 2 X 14,550 14,550
ONI132l 2023 MY &= AFAl HAEE
14,550,000 *13] 14,550
X &= S.10.00 3=+ U= 24,250 24,250
307 el2tol & 24,250 24,250
04 QIZIHAIAME 2 & 24,250 24,250
OHMI172] 2 Xl & 0 303 s+l
24,250,000 %13 24,250
FEdEY)| 8= .4 S0 38,800 38,800 0
307 212+01& 38,800 38,800
04 QIZHHAIAIH E X 38,800 38,800




2A:

M=w=u
x

M ARIME &S
el dEHE |54 AR (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
ON202 FAAIX)| dgEH==U=
38,800,000& x13] 38,800
3.18 H=0ietEa 17,460 17,460
307 gl2to| & 17,460 17,460
04 QIHHAIAIH 2 £ 17,460 17,460
OHM578l 3.18 == OictE
17,460,000 *13] 17,460
S=HSER0 A=z 19,400 19,400 0
307 elztol & 19,400 19,400
04 QIZIHAIAIRH 2 X 19,400 19,400
ON212l &SR0 H=0H3l
19,400,000& * 18] 19,400
FF=MITHHAAT R S42035 60,000 48,500 11,500
307 el2to| & 60,000 48,500 11,500
04 QIZHHAIAIH 2 £ 60,000 48,500 11,500
ORMI182 FFHA IHHAAE MR
=l 60,000,000& *13] 60,000
B3| d==EUz2 240,000 240,000 0
[ 120,000
Al 120,000
307 elztol & 240,000 240,000 0
= 120,000
Al 120,000
04 CIZHHAMAIH 2 & 240,000 240,000 0
OHN143 E3I| E=R=W3l
240,000,000 x12] 240,000
S 120,000
Al 120,000
SHEE LAWY BRAZEHLIANS 47,500 0 47,500
307 212+01& 47,500 47,500
04 QIZHHAIAIH E X 47,500 47,500
ORNI52| =8 NAWIEI| d=ATEH|
LIACHS 47,500,000& %12 47,500
d=gid=SE2d =AU 15,000 15,000
307 elztol & 15,000 15,000
04 CIZHHAMAMH 2 & 15,000 15,000
ORM572l 80 d=SE2d-AU3
15,000,000& x12] 15,000
I MIACUE 2=Z2UE 25,000 25,000
307 21201 & 25,000 25,000
04 QIZIHAIAIH E X 25,000 25,000
o3& M4zl d=A=He =2
25,000,000 *13] 25,000
AEy2s JVIR |4 7,177,986 7,148,407 29,579




A Hsu=sH
x

M AIRIME &E
=&t dE2XHSs =4 AE (SH &)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
201 LB-2AH| 187,175 173,379 13,7%6
01 AlR221H| 630 630 0
OSSR M2 U S 25 a2
70,0002 =94 630
02 SE=29| 180,545 166,749 13,7%6
OXNE2SEIIR =242Y 52,680
odllZ 0,000 x 1=+ 12& 1,080
OZAItAZ 180,000& x10=+12& 21,600
Ozteldl 250,0002 x10=*12& 30,000
OHAT MEMsZ 24 3,000
O&Ilg 200,000& 12 2,400
Oadt=EZ 50,0002 x12& 600
ONZEIIZ =8E 29 3,840
(OrSpIr= 100,000& «12& 1,200
OMEZ 220,000& 128 2,640
OHFZEAZE AEBZ 24,600
OLBIAFA(AIHAIE Z)
1,500,000& * 12& 18,000
OZOIAFE (ATHAIEZ 2)
350,000& =123 4,200
O&Ilg 100,000 12 201 2 2,400
OFAIASE 2% 6,600
O&IIR3 500,000 <12 6,000
O&ot=ER3 50,0003 *12& 600
0Y+ELIH(EXNAZ2R) 2L 4,800
oFIIZ2 200,000& =123 2,400
Oadt=ER22 50,0002 x12& 600
OAEAZR2 150,000& «12& 1,800
OSARE=A(ZEH2SEU) 3323
700,000& =123 8,400
olfa=zda 29 1,236
OdIIRZ 50,0002 x12& 600
O4dt=ER23 20,0002 128 240
Os4ldl 33,0002 122 3%
OZTEHE 2H(SSALZHEL)
150,000& * 12& 1,800
Ot AAHAUWS|H| 3,000,000 65 = 18,000
OZdE AHZH(Y3, BT, AHEE) 3,549
OdUus® 1,344 %220 4 44 2+3H 3,549
Oo2s® MEXHE A=l
1,8302+6 £ x252 x10CH* 123 32,940
o222 MEXE KSIHAl
60,000& * 10CH 600




2A:

(= amE=

M AMME ME
el dEdE =4 A (SH9 H2)
SA - B GR(31) - HIRAY - BES il &k e HlmS2
OSES MElY PEz
750,0002 *10CH 7,500
O2sRIESIHE SHMNERE=
50,0003 *10CH*23 1,000
O0%4 2 Y SXBAY|
1,000,000 *109H 2 10,000
03 A2 EH| 6,000 6,000 0
OXE2SAIIR steel & &AL
6,000,000 *13] 6,000
206 M= 4l 267,450 267,450
01 =l 267,450 267,450
Oogk =28 =d=25 & | 50,000
Oztet S 263 40,0002 253 +50E 50,000
OEdR =& & FIIES 33,600
OEdst s 63 800,000 6B +7& 33,600
R 2HES ¥ &l 26,000
o=k s 138 40,0002 *133+50& 26,000
OHAEZR =4 & ZIIEE 21,600
OHAE= S 123
60,0002 * 125 +30& 21,600
ONZEIIZR 2 & HIIES 6,250
OZ&Jlst S 58 25,0003 *5Z+50F 6,250
OZOL AIZE =& 2 ZH| 20,000
OaE S 108 40,0003 105 +50E 20,000
OWXAZSR 2EEE ¥ &l 50,000
Osta 5 263 40,0002 253 +50& 50,000
OLYPAIAR SHESE ¥ FH| 60,000
OaE S 03 40,0003 *305+50& 60,000
301 LetEEZ 6,708,851 6,707,578 1,273
2=t - 2SESE4E 6,708,851 6,707,578 1,273
ogss Ha(ds) 3,908, 165
oZ= 64,890,000& x6H 389,340
oZz=s 58,275,000& 3% 174,825
Ozl 55,125,000& x4 220,500
O2ZX 50,715,000& x2H 101,430
OEdolH 41,580,000& 1 41,580
Ou= 68,355,000 3 *4Z 273,420
O 57,960,000& 5% 289,800
Ol 48,195,000& *10H 481,950
O 44,100,000 35 1,543,500
Ou= 34,965,000 x4H 139,860
O 51,660,000 *2Z 103,320
O 47,880,000 *3H 143,640




2A: Msns
A AlRME &
s

s
el dEdE =4 A

RA - BH SRS - LAY - BAS ofl &t A
OHId YL+ =& d= 14,400
OS= 700,000 «1H*12& 8,400
OAs 500,000 x1& 128 6,000
OXE2SHIITF selE+E 48,000
oz= 300,000& 9~ 128 32,400
O=ZXl 150,000&x8«12& 14,400
OEdioH 100,000& x 1+ 123 1,200
O2sF =4l 568,800
Oz A 540,000& x79F » 128 511,920
O==4| 35,0003 »79H « 128 33,180
OzZtAlH| 25,000 +79F « 122 23,700
(OFSPNESIS L] 70,0003 79302 165,900
OUal=A] 60,0002 x79E 103 x6 284,400
(OFIPAERTA= 1,000,000 *30& * 103! 300,000
O=)th=Ez=¢ 126,000
Ooz= 500,000 «6E « 122 36,000
Ood= 500,000& x12H 122 72,000
O=ZXl 250,000& x6H « 122 18,000
ORsd4 Y A=
180,000,000 x13] 180,000
OdoiE2E=s S 20,0002 +79F « 122 18,960
OdHAdXEE L MAU=2 &It
30,000,000& *42] 120,000
OME2SEIIR =N 2
1,000& *1,000P*79H 79,000
OXNYESZIIR XM 283 761,226
(OISESIGE 3,903, 165,000& *1/12 325,264
OHZESH 3,903, 165,000 *3.495% 136,416
OFIIQAEH 135,000,000 *12.27% 16,565
O=A=3]Y= 3,903, 165,000& %4. 5% 175,643
ongrEzRa
3,903, 165,000& *1.75% 68,306
Ot 2 EE =
3,903, 165,000 * 1% 39,032
OEgtd=F U=H| 14,000
ogsts s 105 200,000 +105+7Y 14,000
O=4% 1=l 22,000
Ogs= 563 200,000 x65+ 11 13,200
OCietEst s 85 100,000& 85+ 11H 8,800
OEd = L=l 11,200
ogst=s s 88 200,000& x85+7H 11,200
OELR IIl=H| 15,400
Ooget=s 878 200,000& 75+ 11 15,400




SN HSDSD
M AlRME &S
el dEdE =4 A (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O T2 II=Hl 16,000
Oogsts S 83 200,000 «85*10H 16,000
OMZEI2Z =2 TS| 9,600
ogs=s sS85 200,000 x85+64 9,600
OHOMHAAIARF LI=HI 12,800
OAZESs S 88 200,000 +85+8Y 12,800
Ok =% L= 14,000
odst=s S 108 200,000 «105+7H 14,000
OL AR T TS 24,000
OAE= S 108 200,000 x105+12Y 24,000
405 AtatE = 14,510 14,510
01 ML ESFSHI 14,510 14,510
OENL=R =4 =23 3,000
o4l 3,000,000 *1CH 3,000
O&BER =4 23 1,190
OMIEII 900,000 «1CH 900
)| 290,000 *1H 290
OHACR =2 =3 2,700
odal 1,200,000 *1CH 1,200
OAXT| 1,500,000 «1CH 1,500
OHMAAAT 28| & =2 7,620
OstfAE 7,150,000 *1& 7,150
OAR 4 S80I 470,000 1CH 470
Foe=E 54 X2 1,509,344 1,185,592 323,752
Jl 297,570
= 83,608
Al 1,128,166
ZoHe! M= 243t 867,346 800,283 67,063
307 @I2t01 & 867,346 800,283 67,063
02 QB AANEER 314,005 279,470 34,535
ool dH= =2 24 XA
43,650,000& 12 43,650
oFe =xwd 29
33,950,000& x 18] 33,950
OMI172l d=H0HstEMSUH &8
6,790,000& 12| 6,790
ORMI52 S M=sU A
4,850,000 12 4,850
ORMI432 E=HHAUMFUH2 EH
23,280,000& 18] 23,280
OM72l ESHMACLMFU E
48,500,000 %12 48,500
OX=U3l &It =&Yl X
13,095,000 *13] 13,095




A Hsu=sH

M ARIME &S
celr Zoelds |4 X (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
0==g 258 405 A<
14,550,000 * 13l 14,550
ool P+H4 B4 X
485,000 «10H 52 24,250
O] AXE HEHAM 2
3,880,000 3,880
OE=E d2H=28 u=sd
6,790,000 12| 6,790
OZ A HEMEXN A X RIHLALS 90,420
o82+4 6,036,000 6,036
O2s+8 8,720,000& 8,720
OdHZAHI 140,000 x7&H* 122 11,760
Og&E=Itd| 8,400,000& 8,400
OAIZt2l ==& 21,358,000 21,358
OA X2 4| 1,900,000 1,900
OZA04H| 12,600,000 12,600
O=LH04HI 20,0003 x7&E »20 2,800
O4li2Es 7,448,0002 7,448
OXEE=SANELE 3,500,000& 3,500
OJlN= 5,898,000& 5,898
03 2N EE2SHIEx 563,341 520,813 32,528
OFFAl U= 28 563,341
OoJlz=s 291,619,000& 291,619
(OES 71,589,000& 71,589
OScl=4d| 133,203,000 133,203
OSsE=sAEE 8,810,000 8,810
Ol 2P =AY 2,400,000& 2,400
ONH IR+ 3,600,000& 3,600
@f0]:] 9,520,000& 9,520
Ooger24| 32,600,000 32,600
S=2s0tstIrSH=EU2l 19,400 0 19,400
307 elztol & 19,400 0 19,400
04 CIZHHAMAMH 2 & 19,400 0 19,400
OF=s0etiisM=Hz=l
19,400,000 x12] 19,400
A i MI=Z0H3 7,372 7,760 A388
307 @120l & 7,372 7,760 388
04 QIZHHAMAIH 2 £ 7,372 7,760 A388
OHM9al FFAIEI| 02! IIA=ZU3
7,372,000 *12] 7,372
HFAYI Zojel 2= €202 7,760 7,760 0
307 lztol & 7,760 7,760
04 QIZHHAMAIRH 2 & 7,760 7,760




2A:

E M

X=]

MEUS U
MIXE &S

D HoHedE =4 A

RA B - SRA(E) - MIRAR - B ol &4 e HIDEY
ON143 H=AIED| J0iQ dENS &0
2l 7,760,000 12l 7,760
A 0 dEHF ESU 7,760 7,760
307 212+01™ 7,760 7,760
04 CIZFHAIAIS E & 7,760 7,760
OHM143 FF=AIFI| 02 HEHE E=
2l 7,760,000 13! 7,760
EFAEI HoHe! S0 14,550 11,640 2,910
307 212t01™ 14,550 11,640 2,910
04 QIRHFHAIAIHE B = 14,550 11,640 2,910
ORI138] HEAIFII Hojel SACH3
14,550,000 x13] 14,550
A ZoHe! HN0IEZSUE 11,640 11,640 0
307 212+01™ 11,640 11,640
04 CIZFHAIAIS E & 11,640 11,640
OHM11a F=AIZI| EO0He! HOoIE=SUZ
11,640,000& %13 11,640
BFANEI| =012l Eeitig 7,820 5,820 2,000
307 212t01& 7,820 5,820 2,000
04 QIZFHAIAIE 2 = 7,820 5,820 2,000
OHEsl HFEAEI| S0 ERATHS
7,820,000& 13! 7,820
EFAMEI HO0He S 4,850 4,850
307 212t01™ 4,850 4,850
04 QIZHHAIAIHE 2 £ 4,850 4,850
OHM2a] F=AIED| ZoHe!l =8l
4,850,000 *12] 4,850
ZIXIHH M=Z0H2! HHE=CIE U2 21,340 21,340
307 212t01& 21,340 21,340
04 QIZFHAIAIE B = 21,340 21,340
ORMI132] XX d=Z0i2! =B
21,340,000 12 21,340
X A=Z0He! S=20Hs! 21,340 21,340 0
307 212t01™ 21,340 21,340
04 QIZHHAIAIH 2 £ 21,340 21,340
OHMI132 MAIB &=&0je ESU3
21,340,000& 13 21,340
ZXIH A=Z0H2! AHECHE 19,400 19,400 0
307 212+01& 19,400 19,400
04 QIZHHAIAIE E & 19,400 19,400
ORMI52| MXI E=F0H2 A==
19,400,000 *13] 19,400
X A= XNEHF0HR! & SR sAME 12,610 12,610 0
307 212t01d 12,610 12,610 0




2A:

X XH -
o=

(= amE=
ARIM= &

FUeM=s |54 X&E

29: (Erel: a2
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
04 DIZHHAFAII X 12,610 12,610 0
OM7E DAY HIXIZFONO L YR
THE 12,610,000& x 13l 12,610
O HEHF A=A B 213,696 207,489 6,207
Jl 106,848
= 42,739
Al 64,109
307 elztol & 213,696 207,489 6,207
Jl 106,848
< 42,739
Al 64,109
02 LB HAHE L 213,696 207,489 6,207
OY MU HEHFA=AL BRI
53,424,000& »43] 213,696
Jl 106,848
[ 42,739
Al 64,109
0 AX=HIRHAY X2 272,460 45,900 226,560
Jl 190,722
[ 40,869
Al 40,869
301 LELE NS 272,460 45,900 226,560
Jl 190,722
s 40,869
Al 40,869
01 Al 2E AL S(SREXME) 272,460 45,900 226,560
Ol AX=AH 018 X
272,460,000 272,460
Jl 190,722
=S 40,869
Al 40,869
= 243t 4,507,103 3,625,591 881,612
Jl 1,778,734
=S 281,097
Al 2,447,212
AR IHIRIAE A& 1,786,380 948,600 837,780
Jl 1,250,466
= 267,957
Al 267,957
301 EtE2 N = 1,786,380 948,600 837,780
Jl 1,250,466
= 267,957
Al 267,957
01 Al EEABZ2(2REEMR) 1,786,380 948,600 837,780




2A:

X XH -
o=

(= amE=
ARIH=E &S
dHeH=s gd3t

chl: = (=CR-E))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
orE=ZH 0122 X
1,786,380,000& 1,786,380
Jl 1,250,466
< 267,957
Al 267,957
LBH A UM ) M HF KISt HHX] 446,466 433,958 12,508
Jl 214,824
[ 5,040
Al 226,602
307 glztol & 446,466 433,958 12,508
Il 214,824
s 5,040
Al 226,602
02 LB AANHEE 446,466 433,958 12,508
OYBHMEHST Xt HhX|
111,616,500 *43] 446,466
Il 214,824
=S 5,040
Al 226,602
HEMTLH HEHMSX X HHXI 318,905 309,970 8,935
Jl 163,444
=S 3,600
Al 161,861
307 21201 & 318,905 309,970 8,935
Jl 153,444
= 3,600
Al 161,861
02 2B YA R E A 318,905 309,970 8,935
ONHESMEEHF A=A BRI
79,726,250& *43] 318,905
Il 153,444
= 3,600
Al 161,861
ANZHEHMS A=A BHA 31,598 30,468 1,130
307 @120l & 31,598 30,468 1,130
02 QB AANEER 31,598 30,468 1,130
OHZAIMEHSUCT BIXI ()
7,899,500 *42] 31,598
dEH=s sS4 X2 446,780 375,889 70,891
307 glztol & 446,780 375,889 70,891
02 2B YA E X 446,780 375,889 70,891
ON3B2 sE=T dEM=UH =2
84,000,000& *13] 84,000




2A:

=

H=Ew=1

M M HE ME
Chel: MEX| 2435 (SH9 H2)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
02023 EHSTAAD| L CHEFI| M
=2ESE0US &H 25,220,000& *13] 25,220
02023 MEHs S=E d=03 &8
9,700,000 *13| 9,700
ON18g SH=ET 24 MEXN=UHE &N
22,000,000 13 22,000
02023 HFAIASCBIAIIE AR X
! 1,940,000& *13] 1,940
OHN24z E=E=SZXMS2AEH LS H0
703 &=d 3,880,000 *13| 3,880
02023 E=EMNESHLUE &=
6,790,000& *13l 6,790
02023 MEHMFXSXH25Y) MRMEAI (H
ey, HuUZA|, YHSIH| S)
291,000,000& *13] 291,000
02023 EFAIM S 42K /A5
2,250,000 *13] 2,250
MEXF AIQALSE AL 373,930 374,900 A970
307 QIZ2t01A 373,930 374,900 A970
02 QIZHBAAIEER 373,930 374,900 A970
OR0IH100 BERIIIZHE 2 (AAA
22 BE52) 8,730,000& x13l 8,730
02023 MEHsWA 2
349,200,000 *13] 349,200
OMENSWA =25 WAl
6,000,000& *13] 6,000
OBFAFNALE2Y T2
10,000,000 12l 10,000
=ZPUME100 EFHMESHH 29 200,000 200,000 0
| 160,000
Al 40,000
307 QI2tol ™ 200,000 200,000 0
J| 160,000
Al 40,000
02 QIZHAAAIHE X 200,000 200,000 0
O=CIXM=100 E=MEUSHEH 24
200,000,000& 200,000
| 160,000
Al 40,000
MEHSHAL XA 100,000 77,600 22,400
307 212+01 ™ 100,000 77,600 22,400
04 QIZHHAIAIRIE & 100,000 77,600 22,400
OMSEHA K& 10,000,0002* 103! 100,000
EFAAES )| MEHE S=EU3 N&A 41,285 39,285 2,000
307 gI2Hol ™ 41,285 39,285 2,000
04 QIZHHAIAIE E X 41,285 39,285 2,000




2A:

=

H=Ew=1

M ARIHE &S
el Metis 243 (SH9 H2)
~ - L=
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OFFAE )| HEH=E SSEU= N&H
(253l) 41,285,000& x13] 41,285
SHEEEXNAD & 3| MEHFUH =X 19,400 19,400
307 gl2to| & 19,400 19,400
04 QIHHAIAIH 2 £ 19,400 19,400
ORMI31El SHFSTXAD| HEHS HILIAN
3l !Xl 4,850,000 *12] 4,850
ORNI252] EF=CXAD| A= 7=
=X 4,850,000 *12] 4,850
ON33E SF==EHTI| HEH= 5§20
3l !Xl 4,850,000 12 4,850
OHN7al SESTAIAD| HEMS BH=E2E
sl =Xl 4,850,000 *12] 4,850
SHSH=2 MU X2 9,700 9,700
307 lztol & 9,700 9,700
04 QIZHHAIAIS E X 9,700 9,700
osgHsH=2 MUz XA
4,850,000 <22 9,700
HFAYI| d2Hs =202 11,640 11,640
307 el2to| & 11,640 11,640
04 QIZHHAIAIH 2 £ 11,640 11,640
OHM103 FFAIFI| dEHE FUH3
11,640,000 x12] 11,640
HF=AED| HEWF HOIESUS 6,820 5,820 1,000
307 212+01& 6,820 5,820 1,000
04 QIZHHAIAIH E X 6.820 5,820 1,000
ONal HFAIZI| HEH= HOIE=UZ
6,820,000 *12] 6,820
BFAE| HEM= 5§03 10,700 9,700 1,000
307 el2tol & 10,700 9,700 1,000
04 CIZHHAMAMH 2 & 10,700 9,700 1,000
OHN103 HF=AIFI| dEHE &
10,700,000& x12] 10,700
HFAE)| dEHF SII=U2 5,820 5,820 0
307 212+01™ 5,820 5,820
04 QIZIHAIAIH E X 5,820 5,820
ORNI02 HF=AIEI| M= &II=UE
5,820,000& 12} 5,820
BFAE| HEHM= 02 10,700 9,700 1,000
307 elztol & 10,700 9,700 1,000
04 CIZHHAMALRH 2 & 10,700 9,700 1,000
OHN102 HF=AIEI| HEHS OFHA
10,700,000 x12] 10,700
AN dEHs S0 8,760 7,760 1,000
307 21201 & 8,760 7,760 1,000




2A:

M=w=u

M ARIHE &S
el MEis 24835t (EEEE))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
04 QIZHHAMAIH 2 & 8,760 7,760 1,000
ORFI93l HFAIZI| HEHS =703
8,760,000 12 8,760
HFAEH EMF Q22203 8,760 7,760 1,000
307 @120l & 8,760 7,760 1,000
04 QIRHHAMAIH 2 £ 8,760 7,760 1,000
ORM92l F=AIZH HEHSs Act2=aX
CHal 8,760,000 *12] 8,760
HFAY)| 2= d=A22H01EU= 5,238 5,238
307 glztol & 5,238 5,238
04 CIZHHAIAIS E X 5,238 5,238
ON102 BFAIEI| 2= =12t
ordtizl 5,238,000 12 5,238
EFAEI| HEHS HILANS 10,730 8,730 2,000
307 gl2to| & 10,730 8,730 2,000
04 QIHHAIAIH 2 £ 10,730 8,730 2,000
OHM9al =AY XM= HLIAWS
10,730,000& *13] 10,730
HFAIEH HENS SA4UE 7,760 7,760 0
307 212+01& 7,760 7,760
04 QIZHHAIAIRH 2 X 7,760 7,760
ORNIg=l E=AIEH HEH=S SU
7,760,000 *12] 7,760
BFAEI| HEH=F HHELIEHUWE 15,550 14,550 1,000
307 elzto| & 16,550 14,550 1,000
04 QIZIHAIALE 2 & 15,550 14,550 1,000
ONgal HFAIEI| H2H= BHEQE =
15,550,000& %13 15,550
TN dEHE s 6,820 5,820 1,000
307 212+01& 6,820 5,820 1,000
04 QIZHHAIAIH E X 6.820 5,820 1,000
ORNI92l EF=AIEI| HEH= s7UH
6,820,000& *12] 6,820
BN HEHS DIABHE=HLUS 6.790 6.790
307 212t01™ 6.790 6.790
04 CIZHHAMAMH 2 & 6,790 6,790
OF108] HFAIZH HBEHS DIAHYEH
23 6,790,000& 12| 6,790
HFAEH dEMs 972U 5,820 5,820
307 21201 & 5,820 5,820
04 QIZIHAIAIH E X 5,820 5,820
ONI02] HF=AIEHH MEHS &7
5,820,000& 12} 5,820
BFATH HEHS HASZUHE 7,000 0 7,000




SN HSDSD
M AlRHE S
o MEXSE 243 (SH9 H2)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
307 212+01 A 7,000 7,000
04 QIZISHATAIE B & 7,000 7,000
OHMal EF=AIEHH MEMSE IS0
7,000,000& *13] 7,000
A=A MEs d3RE=U3 7,000 0 7,000
307 212+01™ 7,000 7,000
04 QIZESHAAIS E X 7,000 7,000
OHMN13 HF=AIZHH MEXs M=
3 7,000,000& *13] 7,000
A MEHSUS 82,935 82,935 0
307 212+01 A 82,935 82,935
04 QUZHHAIAIE E X 82,935 82,935
OHM103 &HFAl MEHZUHS
82,935,000&*13] 82,935
Al HEHSHAHZE SHOHESH 7,760 7,760
307 212+01™ 7,760 7,760
04 QIZHSHAAIZ B X 7,760 7,760
OHN102 E=Al MEXNSHHZE SHOIE=S
PNl 7,760,000& *13] 7,760
FFSHIAX JIE FF NEY d2Ui3 14,095 13,095 1,000
307 2I2+01A 14,095 13,095 1,000
04 QUIZHHAIAIE E X 14,09 13,09 1,000
02023 EFSHZEX 018 EF NEZ &Y
Chal 14,005,000 & *13] 14,09
HFEA -2 (2T X H) 43,000 39,770 3,230
307 212+01™ 43,000 39,770 3,230
04 QIZHSHAAII B X 43,000 39,770 3,230
©2023 EFAl 1-2l 43,000,000& 43,000
S dIoIAHEH 9,000 9,000 0
T 4,500
Al 4,500
307 QIZ2t01 A 9,000 9,000 0
= 4,500
Al 4,500
04 QIZISHATAIE 2 & 9,000 9,000 0
OHM11al E=8H dioIAHEE
9,000,000 *13| 9,000
& 4,500
Al 4,500
X, HAMB /Y M=aEZ2US 43,650 43,650 0
307 2I2+01™ 43,650 43,650
04 QIZHSHAAIES E X 43,650 43,650
OHMI143 HX|, HAMIUH MIZAUS
43,650,000 *12] 43,650




A Hsu=sH

M ARIHE &S
el Metis 243 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
X HEUTAH 2 MENS HEEHS 21,825 21,825
307 elztol & 21,825 21,825
04 QIZHHAMALH 2 & 21,825 21,825
ONgal HAl, FAYHTLH 2= H2HS i
COEMS 21,825,000 x13] 21,825
AL BHYSEY d=0l=HILALE 9,700 9,700
307 @I2t0| & 9,700 9,700
04 QIZHHAMAIH 2 £ 9,700 9,700
OM102 X, FA4Z4H d=0l=HLIA
tHal 9,700,000 %12 9,700
A, B ASEH 2 =S d=HUANE 25,220 25,220 0
307 212t01™ 25,220 25,220
04 QIZHHAMAIRH 2 & 25,220 25,220
02023 ZX|, HIMT LYY HEH =S H=HILI
ACHE 25,220,000& x 18] 25,220
G HES0ketEW 225,816 232,800 6,984
307 @120l & 225,816 232,800 26,984
04 QIRHHAMAIH 2 £ 225,816 232,800 6,984

ON21z2 ALY HES0IHEUS

225,816,000& %12 225,816
XA S22 HIAEE 24,880 26,190 1,310
307 212t01™ 24,880 26,190 1,310
04 QIZHFHAIAIHE 2 = 24,880 26,190 21,310
02023 XA S8l HAEE
24,830,000& 13| 24,880
X LE2SE U= 32,010 32,010
307 212+01™ 32,010 32,010
04 QIZFHAIAISE B = 32,010 32,010
OHMIeal XU LE=SH U3
32,010,000& 13l 32,010
S5 MTUE s 27,160 27,160
307 212t01& 27,160 27,160
04 QIRFHAIAIH 2 = 27,160 27,160
ON20z &5 XU &0
27,160,000 *12] 27,160
5 dEH= o=l 9,700 9,700
307 212t01™ 9,700 9,700
04 QIZHHAIAIH 2 £ 9,700 9,700
OHNI15al E5 dEHSF OFUHa
9,700,000& %12 9,700
UEtEHA =S &l 8= AHElA T U= 20,000 0 20,000
307 212t01 & 20,000 0 20,000

04 QIZFHAIAIH B = 20,000 0 20,000




2A:

=

H=Ew=1

M ARIHE &S
el Metis 243 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OHMesl CHEHEHH B3I ZH M2 AHEHAS
=ull el 20,000,000& 20,000
=SS WSHE X2 2,635,137 3,806,607 A1,171,470
=S UsME K& 2,635,137 3,806,607 1,171,470
St w=8F OE AL 289,032 475,670 A186,638
201 =3 1,800 1,800 0
01 At2t2ltl 1,800 1,800 0
CEE T EE =W L TIPS
100,000 x6 2 *32] 1,800
308 AXIHMSOIA 287,232 473,870 186,638
08 WsJI20UetEx 287,232 473,870 A186,638
OStWWSEZ LA 287,232,000 287,232
CHEX LA MM X2 663,000 613,000 50,000
308 AtXIEHMSOIE 663,000 613,000 50,000
08 w=J|20CHet 2 X 663,000 613,000 50,000
OttsHua A=A X2 663,000
O AES 663,000,000 663,000
Asd SE10 X 100,000 200,000 100,000
308 AHAIEMSOIH 100,000 200,000 100,000
08 W=EJ|A0He 2 & 100,000 200,000 100,000
Ofted Sg1 NA(¥0)
100,000,000 100,000
S WA+ 2SS 700,000 1,100,000 400,000
308 AtXIEHMSOIE 700,000 1,100,000 400,000
08 WEJ|20tetEE 700,000 1,100,000 A\400,000
OoFFd=u=sAT 28 X
700,000,000 700,000
AERIIE X2 97,500 100,000 22,500
308 AHXIEMSOIH 97,500 100,000 22,500
08 WSEJ| 2022 97,500 100,000 2,500
OAE =X K& 97,500
OAEISXIE Wi w1
2,500,000 *390H & 97,500
USE FHUNR(ZE3) 785,605 825,937 N40,332
308 AFAIEHMSOIH 785,605 825,937 A40,332
09 Al- = -7 WSHISEH HEHES 785,605 825,937 N40,332
OLsSsn PU=E 293
785,605,000 785,605
e =54 A 100,340 180,340 250,000
eIl =4 X 100,340 150,340 /50,000
Stu=Es g T2 58,340 58,340 0
201 et 3| 1,100 1,100 0
01 At22t2l] 1,100 1,100 0
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2A:

(= amE=

ZH: BHSSAH(HSDID)
Chel: J1=2 &l (CH9: &S1)
= — q
SN - HE - S9I(E) - HIRAY - BAS o & e HIDS2
01 At2t2ltl 16,216 13,464 1,752
OJl=gR=+=g8asHI(0I1E3Hl)
500,000+ 1224 6,000
CEENGIL=T)
8,000 x 122+ x 12 9,216
202 04| 14,400 14,400
01 =LHOLI 14,400 14,400
OoHI(D1EZYI)
20,0003 x12F 5L« 12 14,400
203 HE=H] 3,000 3,000
M RFAZHLRFEI 3,000 3,000
@I1E24(1521013t) 250,000 x 122 3,000




H & 0l & AHS B Ml A

of
i’
oF
uJ

-

KIO

Hlw

6,258,060

6,240,576

A1,253,943

A5,000
18,000

30,000

1,000
1,000

MEE
Ofl &k2h

4,299,247

4,201,848

2,409,820

2,470
2,470
2,470

55,500

12,000

19,500
19,500

32,000
32,000
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ORIAS (FED| AL AOIG|) BN E 2,250
oJle=s=4 100,000 x5 *33| 1,500
Ox=4 30,0002 x5 *33| 450
O3NeIENY 50,0003 *2H *33| 300
307 212+01 A 2,191,862 1,348,805 843,057
05 QIZtRIErZ 2,191,862 1,348,805 843,057
OLHAZ0IH S HE 790,000,000 790,000
OTHAUAZ=HMEH Y 20T =8
360,000,000 360,000
ORI Y HIRE&
220,000,000& 220,000




FAT MSAIE0
ZM: ZD4E0 MSAL 22
CHolr S8FO MSAE X (Shol: % 2)
SA - B BRA(SH) - HRA - of v e HIDE2
oFEF=3+1& 210,000,000 210,000
O=2HMSUEHLARAZIIZ(100HE)
220,274,000 220,274
02xE72Y Y EHETTAIONE)
391,588,000 391,588
AIRI0I 2&et MFAIE JHA 3,126,132 5,650,000 A2,523,868
Il 910,000
== 420,000
Al 1,796,132
EFSYARETE JAEED] AIEINE AL 1,700,000 0 1,700,000
Jl 510,000
= 340,000
Al 850,000
401 Al HIZ S OHbI 1,700,000 0 1,700,000
Il 510,000
= 340,000
Al 850,000
01 AlZH| 1,683,392 0 1,683,392
OFFTEAAT AREARI| AIEMNEALY 1,683,392
O&AIEHAHI 55,196,000 55,196
Il 16,559
= 11,039
Al 27,598
OB A 1,628, 196,000& 1,628,196
Il 488,459
= 325,639
Al 814,098
02 Zcltl 16,608 0 16,608
OHF=ZEAZE HNEHI| AENEAES
16,608,000& 16,608
Jl 4,982
= 3,322
Al 8,304
3 sll=ds3d Zies s34 48X 400,000 0 400,000
Jl 280,000
Al 120,000
401 AIEHIZL SO 400,000 0 400,000
Jl 280,000
Al 120,000
01 Al&H| 394,615 0 394,615
Oz0l=dEs2 el a2t84 &X 394,615
O&AIZ A 18,038,000& 18,038
) 12,627
Al 5,411
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XIS Al 4Dt
ESIES

>

ISAlE 2t

CHel: AlDIO| 2128 MISAIE A (12l M2
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O3 A 376,577,000 376,577
Jl 263,604
Al 112,973
02 Zcltl 5,385 5,385
O=0I=HESE F0HE o34 4X
5,385,000% 5,385
Il 3,769
Al 1,616
A=Y AMEMEASE 400,000 400,000
Il 120,000
== 80,000
Al 200,000
401 A2 HIRL R 0HbI 400,000 400,000
7l 120,000
= 80,000
Al 200,000
01 AlZ2H| 388,419 388,419
OFFAU==ZE AEHEAE 388,419
O&AIEAIHI 14,832,000& 14,832
J| 4,450
=S 2,966
Al 7,416
O3 A 373,587,000 373,587
7l 112,076
= 74,718
Al 186,793
02 2/l 11,581 11,581
OFFAU+SE AIEHLAI
11,581,000& 11,581
Il 3,474
s 2,316
Al 5,791
HEAE o= S4ZAEX wH 150,000 150,000
401 AlEHIZL SO 150,000 150,000
01 Al&H| 150,000 150,000
OMEAE == So4ZAZX wH
136, 185,000 136,185
O&AIZAI 13,815,000& 13,815
BFEFE SSF:AE AEHE A 126,132 126,132
401 Al HIZ R 0HbI 126,132 126,132
01 AlZ28| 126,132 126,132
OFFETY L=FE AEMHLA
120,000,000 120,000
O&AIE A 6,132,000& 6,132
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M ZDSFQ MSAAE 2l
CHel: AlDIO| 2128 MISAIE A (12l M2
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
FF=SEZIY == ALY wAH 350,000 360,000
401 AIZHIZ SO 360,000 350,000
01 Al&HI 350,000 350,000
OFF=ZEZINE & F=IAIAE LT
350,000,000 360,000
NS ERE2Z ot MSAE 72l 684,980 726,356 N41,376
HEAlE 2Z2el & 2334l 80,000 75,000 5,000
401 Al HIZ R OHHI 80,000 75,000 5,000
01 AlZ28| 80,000 75,000 5,000
OM=AE g2l & 22 3|
80,000,000 80,000
HFAIE 2 604,980 651,356 N46,376
101 @124H| 36,041 34,277 1,764
M ORNZZE2NSES 36,041 34,277 1,764
O=0I=HsSE 2l 32,416
OFJI=1=) 76,9603 »2H 26 2L +8E 32,016
Og&E=Itd| 200,000 x2H*13] 400
OZ0I=H=SE 2cls 4UHEE J|22
8= 3,625
o=z 32,416,000& *4. 5% 1,459
OHBEE = 32,416,000 %3.495% 1,133
OFIIRYEE= 1,133,0002%12.27% 140
(@ME=L-t= Y= 32,416,0002 *1.75% 568
OttEs= 32,416,000 * 1% 325
201 Let=23 | 39,000 46,020 AT7,020
01 At2teltl 4,000 3,700 300
O=JIHEUAE =8
100,000 x4 & +3 1,200
OM=EAE 238 E2= WA 2,000
Osl+=9 50,0003 57 2-*42] 1,000
OotiEr I 200,000 52 1,000
OAld2te] =A 500
OA=RES, IS, JIH 54
50,0002 +35 150
o5 XNd, g4dd 70,0003 %55 350
OAlE= It EH WF
300,000& %1 300
02 S3=gHl 35,000 42,320 AT7,320
ONMFAIE AE2&8I=AbI
25,000,000 25,000
0=z0l= H=E382 128 &JIes
350,000& * 122 4,200
oz0lz MEsd +=E2=
400,000 12& 4,800
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Zu: HD4E0 HSAE v
TPl OINE HQEOZ Bt HMSAIE SR (SHol: )
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
ONSAE DERTRL3
1,000,000 #1904 1,000
203 =] 2,000 2,000
03 A=A PR FA| 2,000 2,000
OMFEAIE 2| BRFN 2,000,000& 2,000
206 M=l 3,642 23,212 219,570
01 M= HI 3,642 23,212 219,570
OMSAIE 22|23 3,254
Ol ZEMSE(75L)
2, 1703 +500H 109
OMgIl SHMSSF(500)
1,450 = 1000H 145
O3 E &Kl 40,0003 %102 A 400
O&ll, ditF & A&
5,000& 105122 600
Of=eld, 528 UE S
100,000& %105 1,000
O&& LepdE+ 50,000& %105 500
Ol=J 23, 7% 50,0002 *10= 500
Ou=Jl 7= 1,939 2002 & 388
401 AIEHIZ SO 318,000 318,000
01 Al&H| 318,000 318,000
OMEAE SN2+
12,000,000 *6H 2 72,000
OSHMEAE RAES
50,000,000 *4JH 2 200,000
OMSsAIE ZIH8E8d 46,000,000 46,000
405 AHaHE = 206,297 227,847 A21,550
01 ML ESFSHI 206,297 227,847 A\21,550
OAMEELHHINFAH HIS 193,297
OXhat 230,000 6 H 1,380
Oo0lsAeg 165,000 «6H 990
OMRE 2kt 196,000 «6H 1,176
OLEl# 7,600,000& 7,600
O3los &At 440,000 <2H 880
O3eEs 2kt 149,000 *40H 5,960
O2EHHI 185,000 *5H 925
OB6EHHEI 350, 000& * 10K 3,500
Oz =H 1,400,000 *4CH 5,600
OZgH 600,000 x2CH 1,200
OHAT| 600,000 1CH 600
O=Ab| 5,500,000 = 1CH 5,500
OSMAMIE] 1,000,000 *1CH 1,000
O&zh| 500,000 =6CH 3,000
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Ciel: OlNZ Z9MOZ Gi= HMISAE SN2 (12l M2
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
(OF= =] 610, 0003 *2CH 1,220
OgZ=2AH 2,000,000 *1CH 2,000
OO0ISEATAH 1,400,000 *1CH 1,400
odal 700,000 ~2CH 1,400
on 1,200,000 «1CH 1,200
OVt 300,000 *1H 300
O 500,000 8K 4,000
OAIHI0I= 254,000 *4H 1,016
OHRel ¥ald 430,000 ~8HK 3,440
O&aE 22Hiol= 250,000 * 1074 2,500
OVSHMO SESTD|
3,000,000 *1H 3,000
OS+==3XE Hd==2421(ZeE)
25,300,000 = 1SET 25,300
O AEHSH 1,100,000 = 1SET 1,100
OXSE A 2,000, 0002 *1SET 2,000
osE=sd)| 4,300,000 = 1SET 4,300
OsL2IVI=FET]
6,000,000 = 1SET 6,000
OdHANAE=E)| 5,500,000 = 1SET 5,500
SLCEFIEEb]
8,000, 0002 1SET 8,000
OS2 2Z0IIFE Y]
6,600,000 = 1SET 6,600
o128 =30 11,000,000 = 1SET 11,000
Oti28 =37 5,000,000 = 1SET 5,000
OEIISHIHER))
8,800, 0002 1SET 8,800
OYRERETI|(ASYASH)
8,800,000 = 1SET 8,800
OHgE=d)| 8,000,000 = 1SET 8,000
O=Z &AL 7,400,000& *1EA 7,400
OdSEHIoIEE
2,750,000 *1EA 2,750
OgXoE MSH 2,200,000& *1EA 2,200
OHADE UEC2SMHE
18,000,000& 18,000
OAaE= HXIN 440,000 =4CH 1,760
OU==2M=dH HIS 13,000
ool 6,000,000 1CH 6,000
ogAJ|+ 3,500,000 x2H 7,000
HH2LZHI(HMSFAILD) 39,934 37,779 2,185
=238l 39,934 37,779 2,1%
JI23Hl 39,934 37,779 2,19
201 et 3| 18,934 17,979 955
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el JI=2 3 (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 At2t2ltl 18,694 17,739 955
OJ1=2dR+=A3HI(01=3Y)
500,000 * 142 +97% 6,790
ozgt(01=3dl)
8,000 x 14+ x 12 10,752
OtI2F=E 1,152
ONYX(EBUY, SRHY, SHEYZX
s32E) 15,0002 «40 122 720
OXgx(s2¢dL)
16,0003 1O~ 123 192
O (SLLE)
20,000 * 11 =122 240
2 352484l 240 240 0
OISV =tz 20,0002~ 12 240
202 04l 16,800 16,800
01 =LHOHI 16,800 16,800
O©JI1=&H| 20,0002 x 14«52 x 122 16,800
203 =4l 3,000 3,000
MU FA2SHI LI 3,000 3,000
O©J1FA (152! 0lI5tH) 250,000 * 122 3,000
405 KHakE SH 1,200 0 1,200
01 Tt =S F = 1,200 0 1,200
O32E2xt 2 160,000 «8H 1,200
HWeEs(HSAIED) 35,723 0 35,723
L SPNES 35,723 0 35,723
gtet= JIEt 35,723 0 35,723
802 grat=JIEt 35,723 0 35,723
01 =Ex3tte=a 18,070 0 18,070
020173~20223 H== S2=LUNSFHE HEA
2 OIXt 18,069,650 18,070
02 Al - CHIEXSEES 17,653 0 17,653
©20174~20223 =+ S2=LUNSHEH AHA
2 OlXt 17,652,820 17,653




Sel: FFAg0=E 23 (SH9 H2)
RA B - SRA(E) - MIRAR - B ol &4 e HIDEY
o2t 14,940,547 15,381,736 A441,189
Il 61,970
S 270,000
Al 14,608,577
Alglo] diset B2 =2 =32 =4 14,642,127 15,088,720 446,593
Il 61,970
< 270,000
Al 14,310,157
A= 22 12,524,573 12,186,349 338,224
NI ES= ikl 10,615,702 10,223,136 392,566
301 LENZ 10,615,702 10,223,136 392,566
o=t - 2SRS=2ds 10,615,702 10,223,136 392,566
OAlEti=E 22| 10,380,451
OJlzs 7,214,298
-HHE(HSH)
6,250,000 «4E«12& 300,000
—SEAT U A4T(63 1952 4Y)
3,877,600& ~4H«12& 186,125
—SHURA(TE BEE 4Y)
3,239,400 «36H 123 1,399,421
-IAEHRA (B2 6= AtY)
2,975,900 x43E « 128 1,535,565
—oIBICIRI (92 165 AT
2,701,700« 1178 =128 3,793,187
Odl= 576,192
-2 6,914,298,000& * 1/ 12+50%+23] 576,192
O=¢ 1,136,280
-bEeE 137,280
- HH At 40,000+ 117F 122 56,160
el 20,0003 %136« 122 32,640
SMAH 60,0002 x50F « 128 42,480
AURHRHA 100,000& x5« 122 6,000
-Sgg 50,0003 x204H 183 183,600
-Hseteg 468,720
2d4d & 4F
280,000 x4H 128 13,440
AR 230,000& *x36Z 122 99,360
- AR 200,000 x43E « 12 103,200
- PR 180,000& x117H 122 252,720
“HEg 346,680
24y 2 o4
300,000& x4H « 122 14,400
- = 200,000& *x36E * 122 86,400
+ A EE 150,0002 *43 123 77,400
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ol EFAlEMEY 2Y (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
- ot 120,000 1172 x 122 168,480
OFHZAH| 130,000& x200& » 122 312,000
Og&=Itdl
6,914,298, 0002 »1/12x60%22] 691,430
Ooxsd =1Nxz 24
1,000 +1,000p%204%4 204,000
ongREELY2
7,214,298,000&3 +1.75% 126,251
OAlEl=E Hiaed el2it]
1,000,000 x10E* 122 120,000
OAlElsEd AJI2 8|
6,914,298,000% * 1/ 12x86%+1/30+7 & 115,623
ONSTHE AIZtRIZS g
11,1303+ 122 *30A[ 2+ 123 48,082
O ] 7,000
OX=+¢ 1,000
-=oE 100,000& x5= 500
-t 100,000& 5= 500
O#==g 3,000
WSS 50,0002 %10= 500
-=od 50,000& *30= 1,500
-SEH 50,000& *20= 1,000
Ot +g 3,000
-SEHH5= 013t 100,000 %52 500
-2EH(6E2T2) 200,000 %52 1,000
-2 =) 300,000& %52 1,500
OAEl=a SHEX+
3, 164,000 «68%+1/2+60 &« 18 64,546
Agtl=e 243t 632,097 767,751 135,654
201 fer= 3| 212,342 261,136 N48, 794
01 At 2|l 188,142 238,436 A50,294
OAlEglst 2d933 48
100,000 7 »23] 1,400
OAlglst &2 HE & EEARS
SPEBS 24,000
OoHEME 400,0002 5H #4132 8,000
(OF=PIL=PS 400,000 5E *4EH X %12 8,000
O=J1Ed 400,000 x5E *4 =t X% 12 8,000
OZg ZHedHE 2403 2,000+ 123 5,760
O=42s 2 AXME 12,480
Ougrettt Zoojad
12,0002 +80 & *13] 960
Oogad sAd 12,0003 552 %4 3] 2,640
O=ot =y 12,0003 50 & *4 3] 2,400
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& AlQl0] d=s8 A =2 s &4
ool HEARNES 29 (cre:xigl)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O=otet o2 d =AD| &L
260,000 *5H 1,300
O=ot a2 SALEX 1,060
M SAEX 20,0003 158 A 300
B4 SALEX 38,0003 202} A 760
Ofst ol &4 220,000 *4H 880
Otl=t Hsa SIIEFFI| Xz 7,212
Oogdd SIIFFI Sz
43,0002 *3CH* 122 1,548
O=ad 3J18dJ| 8xtg
43,0002 =404 128 2,064
Omarotst BIIHEI| AXE
45,0002 *4CH* 122 2,160
OS8¢ BIIFHI| YXE
40,0002 *3CH* 122 1,440
OANElz=E ARES 4,480
O=AIEX] 980
-M SAEX 20,0003 »302f A 600
B4 SAEX 38,0003 %102 A 380
O=Zgd &: 220,000 * 107K 2,200
O=API &Y 260,000 *5H 1,300
2 s5=34l 5,000 5,000 0
Ost==2=tll=alat Astal]
5,000,000& *12] 5,000
03 A= 19,200 17,700 1,500
OZAEIS! B2 300,0002 402 12,000
OFaxHE 2HAEZ 2 7,200
OAtal & HaEd 750,000 %22 1,500
O8=22 ME(S+9, M2 S)
2,000,000 *23] 4,000
O%E M= 500,000 <22 1,000
OLIOt: Xt 200,000 22 400
OE= gxt 160,000 23] 300
206 M=l 81,780 69,680 12,100
01 MZH| 81,780 69,680 12,100
Ougfotet o] A2F & 42 24,800
Ollote =& 150,000 »2CH*62] 1,800
Oodt=Z = 1,500,000 *1SET 1,500
Ol ==¢l 500,0002*10CH 5,000
O8I 1l 300,000 5CH 1,500
O%e F # dE 500,000&*30 15,000
Og&t Lot 28 € o2 13,200
OLlote =& 150,000 *3CH*62] 2,700
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M AlDIO| #=E BN =2 H2TA I

Chel: A= 29 EER=E)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
SEFEEEETEEE
15,0003 105 +70 10,500
Ot o) ADE W ot 16, 100
Ootor2 s(258) 350,000& * 1274 4,200
ONHELD =(2s8) 400,000 +6H 2,400
OBt & &9 eraEll] =2
50,000 304 1,500
O=ofct otgimel ol aig
500,000& =163 8,000
OREH 3Nz 27,680
(OL=F P\ 1= 400,000& 36X 14,400
O#FZ2,He 25,0002 *36 = +6 K 5,400
OHAEZEZHHIOIZ 300,000 x22t A 600
O=2l(8+, 212 S)
2,000,000 *12] 2,000
O&=210] 50,0002 = 1074 500
OxZ0| 1,000 *3004 300
OaxZE2 Aol 20,0002 *2004 400
O=H 150, 0003 224 3,300
O&7 & 40,000 *24 80
oY AE 700,000& 700
301 LPENZ 198,350 276,750 78,400
11 HAIAHIXI A2 80,510 80,510 0
OAEH=E J2e U= 4,000
OZ A= 4,000
-Jl2 300,000& * 1«83 2,400
-1 200,000 * 1 +83| 1,600
OFa~E HAEC 2 76,510
OX& X =< 320,000 x1H x50 16,000
OZAL = 120,000 8 503 48,000
O =2H(Ha3)
200,000 6% 23| 2,400
o= 300,000&*3= 900
O=tl 8,000& x60H 23] 960
O2tAlH| 3,300 x50 503 8,250
2= - 2S2SEAZ 87,840 92,240 24,400
OAlE0l=t 23| 21,600
(@Ini=tlie; 500,000 12 6,000
OogaH 500,000& =123 6,000
o=t 400,000& = 12& 4,800
OoRsH 400,000& *12& 4,800
OXIZ I & AU =E AIREHE SZE 0| 10,560
OXIZ KH(LHRAL)
20,000 4B +x22 « 12 1,920
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M ARI0 A=E FH =2 O3t &4

ol EFAlEMEY 2Y (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OAIRHH 20,0003 * 12 +32 122 8,640
OAEl= &39S
4,000,000& *12] 4,000
OANERSH Mg =278 29
40,0003 *31E+82] 9,920
OAl2IZztua 2Y 36,000
Oueortt AL
40,0002 x3H 24| 2tx302 7,200
OEEE TA
40,0002 4 *2A| 2+%302] 9,600
O=ae 2t
40,0002 4 2A| 2+*302] 9,600
ORSH 2
40,0003 =4 *2A| 2++302] 9,600
OAEN=E AREHR S|
8,000 x 12 +52 x 122 5,760
14 JIEt2 8= 30,000 20,000 10,000
OAMNENEE AREH B43
30,000,000& 30,000
307 elztol & 70,088 69,270 818
05 2I2tRIE S 70,088 69,270 818
O3¢0dEE ¢t =20
3,215,655« 1H 123 38,588
O=cte! HIHAIAE 29
700,000 #4532 31,500
405 AHAHE S 69,537 90,915 A21,378
01 AL =S F=HI 69,537 90,915 A21,378
OAgugsHt =25 7Y 21,466
OZHc Eg® 10,000,000 1CH 10,000
OBb Zcteld! 11,066,000+ 1CH 11,066
OEte| 22ts 200,000 x2H 400
oAgEaH =3 7 3,641
OA=24 JHHIR 3,641,000& 3,641
OAE=SH 2378 32,520
OSEal 20,180,000 = 1CH 20,180
OAITIAIOINY = 1,000,000 *1H 1,000
OE2d & 4% 3,840,000 3,840
Oouory 7,500,000 14 7,500
OANERsH =23 78 1,910
Odsd a3l 800,000 1K 800
odal 550,000 1CH 550
o+ 280,000 *2CH 560
OHAZZ0f 10,000,000 10,000
ANEuetH SR3H 90,000 86,272 3,728
201 et 3| 29,600 28,000 1,600
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